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1. The time period of a simple pendulum measured
inside a stationary lift is T. If the lift start
accelerating upwards with an acceleration g/3, the
time period will be :-

(1) 3 T (2) 
3

2
T (3) 

T

3
(4) 

T
3

2. With increase in temperature frequency of sound
from an organ pipe
(1) Decreases (2) Increases
(3) Unchanges (4) None

3. Two simple pendulum of length 1m. and 16m.
respectively are both given small displacements in
the same direction at the same instant. They will
again be in phase after how many oscillation of
shorter pendulum :–

(1) 
1
4

(2) 
4
3

(3) 4 (4) 5

4.

O

The driver of car notice that frequency of horn
changes from 400 Hz to 450 Hz because of
reflection from wall. Find car speed
(speed of sound = 340 m/s)
(1) 10 m/s (2) 20 m/s
(3) 30 m/s (4) 40 m/s

5. A particle executing S.H.M. has a maximum
velocity of 1 m/s and a maximum acceleration of
1.57 m/s2. Its time period is :-

(1) 
1

157.
 sec. (2) 2 sec.

(3) 4 sec. (4) 1.57 sec.
6. When source is moving and observer is

stationary. The quantity whose change causes
dopplar effect is-
(1) Velocity of sound
(2) Wavelength
(3) Both velocity and wavelength
(4) None

1. ;fn fLFkj fy¶V esa ,d ljy yksyd dk vkorZdky
T ekik tkrk gSA ;fn fy¶V g/3 Roj.k ls Åij
dh vksj Rofjr gksuk izkjEHk dj ns rks vkorZdky
gksxk %&

(1) 3 T (2) 
3

2
T (3) 

T

3
(4) 

T
3

2. rkieku c<+kus ij organ pipt dh frequencty -

(1) de gks tkrh gS (2) c<+ tkrh gS

(3) ugha cnyrh gS (4) dksbZ ugha
3. 1 m rFkk 16 m yEckbZ ds nks ljy yksydksa dks fdlh le;

leku fn'kk esa FkksM+k foLFkkiu fn;k tkrk gSA ;s iqu% leku

dyk esa nksyu djsxsa rks NksVh yEckbZ ds ljy yksyd ds

fdrus nksyu i'pkr ;s iqu% leku dyk eas nksyu djsaxs %&

(1) 
1
4

(2) 
4
3

(3) 4 (4) 5

4.

O

,d dkj dk driver notice djrk gS fd horn dh
frequency 400 Hz ls cnydj 450 Hz gks xbZ gS nhokj
ls reflection ds dkj.k dkj dh speed D;k gksxh&
(Sound dh speed = 340 m/s)
(1) 10 m/s (2) 20 m/s
(3) 30 m/s (4) 40 m/s

5. ,d S.H.M. djrs d.k dk vf/kdre osx 1 eh-@ls-
rFkk vf/kdre Roj.k 1-57 eh-@ls-2 gS rks bldk vkorZdky
gS %&

(1) 
1

157.
 sec. (2) 2 sec.

(3) 4 sec. (4) 1.57 sec.

6. tc source moving gks vkSj observer stationary gks

rks fdl quantity ds cnuys ls dopplar effect gksrk gS-
(1) Velocity of sound
(2) Wavelength
(3) Both velocity and wavelength
(4) None
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7. For  a particle executing S.H.M the kinetic
energy K is given by K = K0 cos2 wt. The
maximum value of potential energy is :-

(1) K0 (2) Zero (3) 
K0

2
(4) 

K0

4

8.

9kg 9kg

1.5m

The wire between pully has length 1.5 m and mass
12 gm. Find the frequency of vibration of first
overtone of wire between pully's.
(g = 9.8 m/s2)

(1)  50 Hz (2)  60 Hz (3)  70 Hz (4)  80 Hz

9. The rate of change of angular momentum is
called:-
(1) Angular velocity
(2) Angular acceleration
(3) Force
(4) Torque

10. A dimensionless quantity :-
(1) Never has a unit
(2) Always has a unit
(3) May have a unit
(4) Does not exist

11. The moment of inertia of a body depend upon :-
(i) The mass of body
(ii) The distribution of mass in body
(iii) The axis of rotation of body
(iv) The angular velocity of body
(1) Only (i) (2) (i), (ii)
(3) (i), (ii), (iii) (4) (i), (ii), (iii), (iv)

12. The dimensions ML–1T–2 may correspond to
(1) Work done by a force
(2) Pressure
(3) Energy per unit volume
(4) (2) & (3) both

13. A wheel of moment of mertia 5 × 10–3 kg-m2 is
making 20 revolution per second. The torque
required to stop it in 10 second is :-
(1) 2p × 102 N-m (2) 2p × 10–2 N-m
(3) 4p × 102 N-m (4) 4p × 10–2 N-m

7. ,d d.k l- vk- x- djrs d.k dh xfrt ÅtkZ (K),
K  =  K0 cos2 wt }kjk nh tkrh gS rks fLFkfrt ÅtkZ dk
vfèkdre eku gksxk %&

(1) K0 (2) Zero (3) 
K0

2
(4) 

K0

4

8.

9kg 9kg

1.5m

Pully ds chp wire 1.5 m yEckbZ dk gS] mldk mass

12 gm gSA bl wire ds first overtone dh frequency

D;k gksxh (g = 9.8 m/s2)

(1)  50 Hz (2)  60 Hz (3)  70 Hz (4)  80 Hz

9. dks.kh; laosx esa ifjorZu dh nj dgykrh gS %&

(1) dks.kh; osx

(2) dks.kh; Roj.k

(3) cy

(4) cy vk?kw.kZ

10. ,d foekghu jkf'k dh :-

(1) dHkh bdkbZ ugh gksrh
(2) ges'kk bdkbZ gksrh gS
(3) bdkbZ gks ldrh gS
(4) ,slh jkf'k fo|eku ugha gS

11. fdlh oLrq dk tM+Ro vk?kw.kZ fuHkZj djrk gS %&
(i) oLrq ds nzO;eku ij
(ii) oLrq esa nzO;eku ds forj.k ij
(iii) oLrq dh ?kw.kZu v{k ij
(iv) oLrq ds dks.kh; osx ij
(1) dsoy (i) (2) (i), (ii)
(3) (i), (ii), (iii) (4) (i), (ii), (iii), (iv)

12. ML–1T–2 fuEu esa ls fdldh foek gks ldrh gS %&
(1) cy }kjk fd;s x;s dk;Z ds
(2) nkc
(3) izfr bdkbZ vk;ru ÅtkZ
(4) (2) rFkk (3) nksuksa

13. 5 × 10–3 kg-m2 tM+Ro vk?kw.kZ dk ,d ifg;k 20 pDdj
izfr lsd.M yxkrk gSA bls 10 lsd.M esa jksdus ds fy;s
vko';d cy vk?kw.kZ gS %&
(1) 2p × 102 N-m (2) 2p × 10–2 N-m
(3) 4p × 102 N-m (4) 4p × 10–2 N-m
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14. Two horizontal pipes of radii 1 cm and 2 cm are
connected with one-another. Water is flowing
through them,. If the velocity of water in first pipe
is 8 m/s and the pressure is 1.0 × 105 N/m2, then
the pressure (in N/m2) and velocity (in m/s) of
water in the second pipe are.
(1) 1.0 × 105,  8 (2) 2 × 105, 16

(3) 1.3 × 105,  2 (4) 1.8 × 105,  4

15. A solid cylinder starts rolling from a height 'h' on
an inclined plane. At some instant t, the ratio of
its rotational kinetic energy and the total kinetic
energy would be :-
(1) 1 : 2 (2) 1 : 3 (3) 2 : 3 (4) 1 : 1

16. Spherical balls of radius ‘R’ are falling in a
viscous fluid of viscosity ‘h’ with a velocity ‘v’.
The retarding viscous force acting on the spherical
ball is -
(1) inversely proportional to ‘R’ but directly

proportional to velocity ‘v’
(2) directly proportional to both radius ‘R’ and

velocity ‘v’
(3) inversely proportional to both radius ‘R’ and

velocity ‘v’’
(4) directly proportional to ‘R’ but inversely

proportional to velocity ‘v’
17. The angular acceleration of partical moving along

a circular path with uniform speed is –
(1) Uniform but non-zero
(2) Zero
(3) Variable
(4) Such as cannot be predicate from the given

information
18. A soap bubble (S.T. 30 dyne/cm) has radius of

1 cm. The work done in doubling its radius would
be -
(1) 96 erg (2) 113.5 erg
(3) 20 erg (4) 2261 erg

19. Two spherical bodies of mass M and 5M and radii
R and 2R respectively are released in free space
with initial separation between their centres equal
to 12 R. If they attract each other due to
gravitational force only, then the distance covered
by the smaller body just before collision is-

(1) 2.5 R (2) 4.5 R
(3) 7.5 R (4) 1.5 R

14. 1 cm rFkk 2 cm f=T;k ds nks {kSfrt ikbi ,d nwljs ls

tqM+s gS buesa ls ikuh cg jgk gSA igys ikbi esa ikuh dk osx

8 m/s rFkk nkc 1.0 × 105 N/m2 gS rks nwljs ikbi esa ikuh

dk nkc (N/m2) rFkk osx (m/s) gS&

(1) 1.0 × 105,  8 (2) 2 × 105, 16

(3) 1.3 × 105,  2 (4) 1.8 × 105,  4

15. ,d Bksl csyu h Å¡pkbZ ds ,d ur ry ls yq<+duk izkjEHk
djrk gS rks t le; ckn  mldh ?kw.kZu xfrt ÅtkZ rFkk dqy
xfrt ÅtkZ dk vuqikr gksxk %&
(1) 1 : 2 (2) 1 : 3
(3) 2 : 3 (4) 1 : 1

16. ‘R’ f=T;k dh xksy xasn ‘h’ ';kurk ds fdlh ';ku rjy

esa osx ‘v’ ls fxj jgh gSA xksy xsan ij dk;Zjr eand ';ku

cy gS&

(1) ‘R’ ds O;qRØekuqikrh ijUrq ‘v’ ds vuqØekuqikrh

(2) ‘R’ rFkk ‘v’ nksuksa ds vuqØekuqikrh

(3) ‘R’ o ‘v’’ nksuksa ds O;qRØekuqikrh

(4) ‘R’ ds vuqØekuqikrh ijUrq ‘v’ ds O;qRØekuqikrh

17. ,d d.k ,d leku pky ls o`Ùkh; iFk ij xfr djrk gS] rks
mldk dks.kh; Roj.k dk eku gksrk gS &

(1) ,d leku fdUrq 'kwU; ugha

(2) 'kwU;

(3) ifjorZu'khy

(4) nh xbZ lwpuk ls bldks Kkr ugha fd;k tk ldrk gS
18. ,d lkcqu ds cqycqys (i`"B ruko 30 dyne/cm) dh f=T;k

1 cm. gSA bldh f=T;k dks nqxquh djus ds fy;s fd;k x;k
dk;Z gksxk&
(1) 96 erg (2) 113.5 erg
(3) 20 erg (4) 2261 erg

19. nzO;eku M o 5M rFkk f=T;k R o 2R ds nks xksyksa] ds

dsUnzks ds chp dh nwjh 12 R gS] dks vUrfj{k esa eqDr fd;k

tkrk gSA ;fn nksukas xksys ,d&nwljs dks dsoy xq:Roh; cy

ls gh vkdf"kZr djrs gSa] rks nksuksa xksyksa dks NksM+us ij] VDdj

ls igys NksVs xksys }kjk pyh x;h nwjh gksxh %&
(1) 2.5 R (2) 4.5 R
(3) 7.5 R (4) 1.5 R

izR;sd iz'u dks vtqZu cudj djksA
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20. A steel wire of uniform cross sectional area 2mm2

is heated upto 50ºC and is stretched by clamping
its two ends rigidly. The change in tension when
the temperature falls from 50ºC to 30ºC is given
by -
(a = 1.1 × 10–5 ºC, Y = 2.0  × 1011 N/m2)

(1) 88 N (2) 5N

(3) 1.5 × 2.010N (4) 2.5 × 2.010 N
21. A satellite of mass m revolves around the earth of

radius R at a height x from its surface. If g is the
acceleration due to gravity on the surface of the earth,
the orbital speed of the satellite is-

(1) gx (2) 
gR
R x-

(3) 
2gR

R x+
(4) 

1/22gR
R x

æ ö
ç ÷ç ÷+è ø

22. A black body at 200 K is found to exit maximum
energy at a wavelength of 14µm. When its
temperature is raised to 1000 K, the wavelength
at which maximum energy is emitted is :-
(1) 14 µm (2) 70 µm
(3) 2.8 µm (4) 2.8 mm

23. If g is the acceleration due to gravity on the
earth's surface, the gain in the potential energy
of  an  object  of  mass  m  raised  from  the  surface
of the earth to a height equal to the radius R
of  the  earth,  is-

(1) 2mgR (2) 
1
2

mgR

(3) 
1
4

mgR (4) mgR

24. Two metal cubes A and B same size are arranged
as shown in the figure. The extreme ends of the
combination are maintained at the indicated
temperatures. The arrangement is thermally
insulated. The coefficients of thermal conductivity
of A and B are 300 W/mºC and 200 W/mºC,
respectively. After steady is reached, the
temperature of the interface will be :-

100ºC 0ºCA B

(1) 45ºC (2) 90ºC (3) 30ºC (4) 60º

20. 2mm2 vuqizLFk {ks=Qy okys ,d leku LVhy rkj dks 50ºC

rd xeZ fd;k tkrk gS rFkk blds nksuksa fljksa dks n`<+ vkèkkjksa

esa dl dj [khapk tkrk gsA tc rki 50ºC ls 30ºC rd

fxjrk gS rks ruko eas ifjorZu gksxk&

(a = 1.1 × 10–5 ºC, Y = 2.0  × 1011 N/m2)

(1) 88 N (2) 5N
(3) 1.5 × 2.010N (4) 2.5 × 2.010 N

21. m nzO;eku dk dksbZ mixzg R f=T;k dh i`Foh ds i`"B ls x

Å¡pkbZ ij i`Foh dh ifjØek dj jgk gSA ;fn i`Foh ds i`"B

ij xq#Roh; Roj.k g gS] rks mixzg dh d{kh; pky gS

(1) gx (2) 
gR
R x-

(3) 
2gR

R x+
(4)

1/22gR
R x

æ ö
ç ÷ç ÷+è ø

22. 200 K ij ,d d`f".kdk ls vf/kdre ÅtkZ dk mRltZu
14µm ds rjaxnS/;Z ij gksrk gSA tc bldk rki 1000 K
dj fn;k tkrk gS] rks vf/kdre ÅtkZ dk mRltZu fuEu
rjaxnS/;Z ij gksxk :-
(1) 14 µm (2) 70 µm
(3) 2.8 µm (4) 2.8 mm

23. ;fn ìFoh ds ì"B ij xq:Roh; Roj.k g gS] rks m nzO;eku

dh fdlh oLrq dks ìFoh ds i`"B ls ml Å¡pkbZ rd ys tkus

esa] tks i`Foh dh f=T;k R ds cjkcj gS] ml oLrq dh fLFkfrt

ÅtkZ esa yfC/k gS-

(1) 2mgR (2) 
1
2

mgR

(3) 
1
4

mgR (4) mgR

24. ,d gh vkdkj ds nks /kkfRod ?kuksa A rFkk B dks lkFk tksM+dj
j[kk x;k gSA ;qXe ds vfUre fljksa dks fp= esa n'kkZ;s x;s
rkiekuksa ij fLFkj j[kk tkrk gSA ;g foU;kl (arrangement)
Å"ekjksf/kr (thermally insulated) gSA /kkrqvksa A rFkk B
ds Å"ek pkydrk xq.kkad Øe'k% 300 W/mºC rFkk
200 W/mºC gS] rc LFkk;h voLFkk esa vUrjkì"B dk rkieku
T gS :-

100ºC 0ºCA B

(1) 45ºC (2) 90ºC (3) 30ºC (4) 60º
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25. The body is displaced from (0, 0) to (1m, 1m)

along the path x = y by a force 2ˆ ˆF (x j yi)= +
r

N.

the done by this force will be :-

(1) 
4
3 J (2) 

5
6 J (3) 

3
2 J (4) 

7
5 J

26. A cyclic process for 1 mole of an ideal gas is
shown in figure in the V-T diagram. The work
done in AB, BC and CA respectively :-

C

A B

T

V
V2

T2T1

V1

O

(1) 0, RT2 
1

2

V
ln

V

æ ö
ç ÷è ø

, R(T1 –  T2)

(2) R(T1 – T2), 0, RT1 
1

2

V
ln

V

(3) 0, RT2 
2

1

V
ln

V

æ ö
ç ÷è ø

, R(T1 –  T2)

(4) 0, RT2 
2

1

V
ln

V

æ ö
ç ÷è ø

, R(T2 –  T1)

27. A force F acting on a body depends on its
displacement s as F µ s–1/3. The power delivered
by F will depend on displacement as :-
(1) s2/3 (2) s–5/3 (3) s1/2 (4) s0

28. P-V plots for two gases during adiabatic process
are shown in the figure. Plots 1 and 2 should
corresponds respectively to :-

V

P

1
2

(1)  He and O2 (2) O2 and He
(3)  He and Ar (4) O2 and N2

29. A constant power P is applied to a particle of mass
m. The distance travelled by the particle when
its velocity increases from v1 to  v2 is (neglect
friction) :-

(1) 2 2
2 1

3P (v v )
m

- (2) 
m
3P (v2 –  v1)

(3) 3 3
2 1

m (v v )
3P

- (4) 2 2
2 1

m (v v )
3P

-

25. ,d oLrq dks iFk x = y ds vuqfn'k (0, 0) ls (1m, 1m)

rd cy 2ˆ ˆF (x j yi)= +
r

N }kjk foLFkkfir fd;k tkrk gSA
rks cy }kjk fd;k x;k dk;Z gksxk :-

(1) 
4
3 J (2) 

5
6 J (3) 

3
2 J (4) 

7
5 J

26. xSl dh ,d eksy ek=k ds pØh; izØe ds fy, V-T oØ
fn[kk;k x;k gSA izfØ;kvksa AB, BC rFkk CA esa fd, x;s
dk;Z Øe'k% gS :-

C

A B

T

V
V2

T2T1

V1

O

(1) 0, RT2 
1

2

V
ln

V

æ ö
ç ÷è ø

, R(T1 –  T2)

(2) R(T1 – T2), 0, RT1 
1

2

V
ln

V

(3) 0, RT2 
2

1

V
ln

V

æ ö
ç ÷è ø

, R(T1 –  T2)

(4) 0, RT2 
2

1

V
ln

V

æ ö
ç ÷è ø

, R(T2 –  T1)

27. fdlh oLrq ij dk;Zjr cy F blds foLFkkiu s ij lEcUèk
F µ s–1/3 ij fuHkZj djrk gSA F ds }kjk nh xbZ 'kfDr
foLFkkiu ij fdl izdkj fuHkZj djsxh :-
(1) s2/3 (2) s–5/3 (3) s1/2 (4) s0

28. fp= esa] :¼ks"e izØe esa nks xSlksa ds fy, P-V vkjs[k fn[kk,
x, gSA oØ 1 rFkk 2 Øe'k% fdlds laxr gS :-

V

P

1
2

(1) He ,oa O2 (2) O2 ,oa He

(3) He ,ao Ar (4) O2 ,oa N2

29. m æO;eku ds d.k ij fu;r 'kfDr P vkjksfir dh
tkrh gSA d.k }kjk r;  dh xbZ nwjh D;k gk sxh tc
bldk osx v1 ls v2 rc c<+rk gSA (?k"k Z.k ux.;
ekfu,) :-

(1) 2 2
2 1

3P (v v )
m

- (2) 
m
3P (v2 –  v1)

(3) 3 3
2 1

m (v v )
3P

- (4) 2 2
2 1

m (v v )
3P

-
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30. Pressure versus temperature graphs of an ideal gas
are as shown in figure. Choose the wrong
statement :-

T T T
(i) (ii) (iii)

P P P

(1) Density of gas is increasing in graph (i)
(2) Density of gas is decreasing in graph (ii)
(3) Density of gas is constant in graph (iii)
(4) None of these

31. A ball is thrown on a smooth horizontal surface
(of coefficient of restitution e for the ball) with
a speed u and angle q with  the  normal  to  the
surface. It leaves the surface at an angle f =

u
q f

e///////////////////////////////////

v

(1) tan–1(e tan q) (2) tan–1 1 tan
e

æ öqç ÷è ø

(3) tan–1(e cot q) (4) q
32. Molar specific heat of oxygen at constant pressure

Cp = 7.2 cal/molºC and R = 8.3 J/mol/K. At constant
volume, 5 mol of oxygen is heated from 10ºC to
20ºC, the quantity of heat required is
approximately :-
(1) 26 cal (2) 60 cal
(3) 260 cal (4) 500 cal

33. A  small  block  of  mass  m  is  kept  on  a  rough
inclined surface of inclination q fixed  in  an
elevator. The elevator goes up with a uniform
velocity v and block does not slide on the wedge.
The work done by force of friction on block in
time t will be :-
(1) zero (2) mgvtcos2q
(3) mgvt.sin2q (4) mgvt.sin2q

34. The kinetic energy of translation of 20 g of oxygen
at 47ºC is (molecular wt. of oxygen is 32 g/mol
and R = 8.3 J/mol/K) :-
(1) 2490 joules (2) 2490 ergs
(3) 830 joules (4) 124.5 joules

30. ,d vkn'kZ xSl ds fy, nkc & rki xzkQksa dks fp= esa fn[kk;k
x;k gSA

T T T
(i) (ii) (iii)

P P P

xyr dFku pqusa &
(1) xzkQ (i) esa xSl dk ?kuRo c<+  jgk gSA
(2) xzkQ (ii) esa xSl dk ?kuRo ?kV jgk gSA
(3) xzkQ (iii) esa xSl dk ?kuRo fu;r gSA
(4) buesa ls dksbZ ugha

31. ,d xsan u pky ls lrg ds vfHkyEc ls  q dks.k ij
,d fpdus {k Sfrt lrg ij QSadh tkrh gS (xs an ds
fy;s izkR;koLFkk xq.kkad e gSa ) ;g lrg dks fdl dks.k
f ij NksM+sxh ?

u
q f

e///////////////////////////////////

v

(1) tan–1(e tan q) (2) tan–1 1 tan
e

æ öqç ÷è ø
(3) tan–1(e cot q) (4) q

32. vkWDlhtu dh ek syj fof'k"V Å"ek fLFkr nkc ij
Cp = 7.2 cal/mol ºC rFkk R = 8.3 J/mol/K gSA fLFkj

vk;ru 10ºC ls 20ºC rd vkWDlhtu ds 5 eksy dks xeZ

fd, tkus ij yh xbZ Å"ek dh ek=k gksxh (yxHkx) :-

(1) 26 dSyksjh (2) 60 dSyksjh

(3) 260 dSyksjh (4) 500 dSyksjh

33. fdlh fy¶V esa [kqjnjs ur ry ij ur ry dks.k q

ij m æO;eku dk NksVk xV~Vk j[kk gSA fy¶V fu;r

pky v ls  Åij pyrh gS vkSj xV~Vk fQlyrk ughaA

?k"kZ.k }kjk t le; esa fd;k dk;Z :-

(1) 'kwU; (2) mgvtcos2q

(3) mgvt.sin2q (4) mgvt.sin2q

34. 20 xzke vkWDlhtu dh 47ºC  ij LFkkukarjh; xfrt ÅtkZ
gksxh (vkWDlhtu dk vkf.od Hkkj  32 vkSj R = 8.3 J/mol/K):-

(1) 2490 twy (2) 2490 vxZ

(3) 830 twy (4) 124.5 twy

dksbZ Hkh iz'u Key Filling ls xyr ugha gksuk pkfg,A



H 7/29

14–01–2013PRE-MEDICAL : ENTHUSIAST COURSE

Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

35. A body of mass m dropped from a height H

reaches the ground with a speed of 1.2 gH .

Then work done by air friction :-
(1) –0.38 mgH (2) +0.38 mgH

(3) –0.28 mgH (4) +0.28 mgH
36. Two balls of same metal weighing 5g and 10g strike

with a target with the same velocity. The heat energy
so developed is used for raising their temperature
alone, then the temperature will be higher :-
(1) For bigger ball
(2) For smaller ball
(3) Equal for both the balls
(4) None is correct from the above three

37. Mass of a particle is 0.50 kg. It is moving initially
with the speed of 80 m/s towards East. At t = 0,
when particle is at x = 0, a force of 20 N directed
towards west is being applied on it for 4 sec. Its
position after 5 sec is -
(1) 80 m (2) 0 (3) –40 m (4) –80 m

38. A block of weight 9.8 N is placed on a table. The
table surface exerts an upward force of
10 N on the block. Taking g = 9.8 m/s2, which of
the following statement are correct -
(A) The block exerts a force of 10 N on the table
(B) The block exerts a force of 19.8 N on the table
(C) The block exerts a force of 9.8 N on the table
(D) The block has an upward acceleration.
(1) only A (2) A and D
(3) B and D (4) C and D

39. In actual a reference frame attached to the earth

(1) is an inertial frame of reference
(2) cannot be an inertial frame because the earth

is revolving around the sun

(3) cannot be an inertial frame because the earth
is rotating about its axis

(4) Option (2) and (3) both are correct
40. A projectile attains a certain maximum height

when projected from earth. If it is projected at the
same angle and with the same initial speed from
the moon, where the acceleration due to gravity
is one-sixth that on earth, by what factor will be
maximum height of the projectile increase ?

(1) 3 (2) 3 (3) 6 (4) 6

35. ,d m æO;eku dh oLrq H Å¡pkbZ ls NksM+h tkrh gS rFkk

1.2 gH dh pky ls tehu ij igq¡prh gS rks ok;q ?k"kZ.k

}kjk fd;k x;k dk;Z gksxk :-

(1) –0.38 mgH (2) +0.38 mgH

(3) –0.28 mgH (4) +0.28 mgH
36. ;fn ,d gh /kkrq dh 5g rFkk 10g dh nks xksfy;k¡ fdlh

y{; ij leku osx ls Vdjkrh gS rFkk dqy mRiUu xksfy;ka s
dk rki c<+kus ds O;; gksrh gS] rks fdl xksyh dk rki
vf/kd gks tk;sxk :-
(1) cM+h xksyh dk
(2) NksVh xksyh dk
(3) nksuks xksfy;ksa dk leku gksxk
(4) buesa ls dksbZ lgh ugha gS

37. ,d d.k dk æO;eku 0.50 kg gSA ;g izkjEHk esa iwoZ ds
vuqfn'k 80 m/s dh pky ls xfr dj jgk gSA t = 0 ij
tc d.k x = 0 ij gksrk gS] 20 N dk ,d cy ml ij
4 sec ds fy, if'pe dh vksj yxk;k tkrk gSA 5 sec i'pkr~
mldh fLFkfr gS -
(1) 80 m (2) 0 (3) –40 m (4) –80 m

38. 9.8 N Hkkj dk ,d CykWd ,d Vscy ij j[kk gSA Vscy dh
lrg] CykWd ij] mGij dh vksj 10 N dk ,d cy vkjksfir
djrh gSA g = 9.8 m/s2 ysrs gq,] fuEu esa ls dkSuls dFku
lgh gksaxs -
(A) CykWd] Vscy ij 10 N dk ,d cy yxk;sxkA
(B) CykWd] Vscy ij 19.8 N dk ,d cy yxk;sxkA
(C) CykWd] Vscy ij 9.8 N dk ,d cy yxk;sxkA
(D) CykWd esa mGij dh vksj ,d Roj.k gksxkA
(1) dsoy A (2) A rFkk D
(3) B rFkk D (4) C rFkk D

39. okLrfodrk esa i`Foh ls tqM+k gqvk funsZ'k ra= :-
(1) ,d tM+Roh; funsZ'k ra= gksrk gS
(2) ,d tM+Roh; funsZ'k ra= ugha gks ldrh] D;ksafd i`Foh]

lw;Z ds pkjksa vksj pDdj yxkrh gS
(3) ,d tM+Roh; ra= ugha gks ldrk] D;ksafd i`Foh vius

v{k ds pkjksa vksj ?kw.kZu dj jgh gS
(4) fodYi (2) rFkk (3) nksuksa lgh gSa

40. i`Foh ls iz{ksfir djus ij ,d iz{ksI; ,d fuf'pr vf/kdre
Å¡pkbZ rd tkrk gSA ;fn bls leku iz{ksi.k dks.k rFkk leku
izkjfEHkd pky ls pUnzek (tgk¡ xq:Roh; Roj.k i`Foh dk

1
6

 xquk gksrk gS) ls iz{ksfir fd;k tk,] rks mls izkIr vfèkdre

Å¡pkbZ fdruh xquk c<+ tk;sxh\

(1) 3 (2) 3 (3) 6 (4) 6
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41. Three forces start acting simultaneously on a

particle moving with velocity v
r

. These forces are
represented in magnitude and direction by the
three sides of a triangle ABC as shown. The
particle will now move with velocity :-

(1) Less than v
r

(2) Greater than v
r

       

BA

C

(3) v
r

, remains unchanged

(4) None

42. A block of mass 4 kg is kept on ground. Coefficient
of friction between block and the ground is 0.80. An
external force of magnitude 30 N is applied on block
parallel to the ground. The resultant force exerted by
ground on block is -

(1) 40 N (2) 30N

(3) 50 N (4) zero
43. A person walks along the path shown in figure.

The path from B to C is semicicular and centered
at O. If the magnitude of displacement of the
person is 2m, the distance travelled by him is
nearly :-

(1) 18 m
A

D

B

C

O

4m

4m

(2) 7 m

(3) 11.14 m

(4) 8 m

44. A student wants to test the laws of gravity on
himself. He falls from a 320 m high building. Five
second after his fall a superman dives off the same
building to save the student. What must be initial
velocity of the superman in order that he catches
the student just before the ground is reached ?
(1) 91.7 m/s (2) 125 m/s
(3) zero (4) 20 m/s

45. The velocity versus time graph of a linear motion
is shown in figure. The distance from the starting
point after 8 sec is :-

(1) 18 m        

0

–2

2
4

1 3 4
5 7 8

V(m/s)

t(sec)

(2) 16 m

(3) 8 m

(4) 6 m

41. osx vr  ls xfr dj jgs ,d d.k ij rhu cy ,d lkFk vkjksfir

fd;s tkrs gSaA bu cyksa ds ifjek.k o fn'kkvksa dks f=Hkqt

ABC dh rhu Hkqtkvksa }kjk n'kkZ;k x;k gS] rks d.k vc

xfr djsxk :-

(1) v
r

 ls de osx ls

(2) v
r

 ls vf/kd osx ls        

BA

C

(3) osx v
r

 fu;r jgsxk

(4) dksbZ ugha

42. 4 kg æO;eku dk ,d CykWd /kjkry ij j[kk gSA CykWd
rFkk /kjkry ds e/; ?k"kZ.k xq.kkad 0.80 gSA CykWd ij
30 N ifjek.k dk ,d ckácy /kjkry ds lekukUrj yxk;k
tkrk gSA /kjkry }kjk CykWd ij vkjksfir ifj.kkeh cy
gS -
(1) 40 N (2) 30N

(3) 50 N (4) 'kwU;

43. ,d O;fDr fp= eas n'kkZ;s x;s iFk ds vuqfn'k xfr djrk
gSA B ls C rd dk iFk v¼Zo`Ùkkdkj gS ftldk dsUæ O

gSA ;fn O;fDr ds foLFkkiu dk ifjek.k 2m gS] rks mlds

}kjk r; dh xbZ nwjh yxHkx gksxh :-

(1) 18 m A

D

B

C

O

4m

4m

(2) 7 m

(3) 11.14 m

(4) 8 m
44. ,d cPpk Lo;a ij xq:Ro ds fu;e dk iz;ksx djuk pkgrk

gSA og 320 m Å¡ph bekjr ls uhps fxjrk gSA cPps ds fxjus
ds 5 lsd.M ckn ,d lqijeSu mlh bekjr ls cPps dks cpkus
ds fy; uhps dwnrk gSA rks lqijeSu dks cPps ds /kjkry ls
Vdjkus ls fcYdqy igys cpkus ds fy;s fdruh izkjafHkd
pky ls uhps dwnuk pkfg;s\
(1) 91.7 m/s (2) 125 m/s
(3) 'kwU; (4) 20 m/s

45. ,d ljy js[kh; xfr dk osx-le; xzkQ fn;k x;k gS] rks
8 lsd.M ckn izkjfEHkd fcUnq ls nwjh Kkr djks  :-

(1) 18 m        

0

–2

2
4

1 3 4
5 7 8

V(m/s)

t(sec)
(2) 16 m

(3) 8 m

(4) 6 m

Use stop, look and go method in reading the question
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46. Methane has :-
(1) Primary carbon atom
(2) Secondary carbon atom
(3) Tertiary carbon atom
(4) None of above

47. The species having bond order different from
that in CO is :-

(1) NO– (2) NO+ (3) CN– (4)  N2

48. IUPAC name of "tetra-tert-butylmethane" has
how many number of carbon in parent chain-
(1)  4 (2)  5 (3)  6 (4)  7

49. Which one of the following conversions
involve change in both hybridisation and
shape  ?

(1) CH4 ¾® C2H6 (2) NH3 ¾® NH4
+

(3) BF3 ¾® BF4
– (4) H2O ¾® H3O+

50. Buck-minsterfullerene is :-
(1) C59 cluster (2) C60 cluster
(3) C61 cluster (4) C62 cluster

51. Arrange the following compounds in order of
increasing dipole moment  :-

(I) Toluene

(II) m-dichlorobenzene

(III) o-dichlorobenzene

(IV) p-dichlorobenzene

(1) I < IV < II < III (2) IV < I < II < III

(3) IV < I < III < II (4) IV < II < I < III

52. In which of the following electrophilic centre
is wrong [*shows EÅ atom] –
(1) CH3HC*=O
(2) H3C* – C º N
(3) *CH3 –  I
(4) All are correct

53. An atom with high electronegativity generally
has  :
(1) tendency to form +ve ions
(2) high ionisation potential
(3) large atomic size

(4) low electron affinity
54. Resonating structure contribute to the actual

structure :-
(1) In proportion of their stability
(2) In proportion of their no. of p bond
(3) In proportion of their size
(4) None of above

46. esFksu j[krk gS%&
(1) izkFkfed dkcZu ijek.kq
(2) f}rh;d dkcZu ijek.kq
(3) r`rh;d dkcZu ijek.kq
(4) mijksDr esa ls dksbZ ugha

47. iztkfr ftlesa CO ls fHkUu ca/k Øe gS :-
(1) NO– (2) NO+

(3) CN– (4)  N2

48. ^^VsªVk&r`rh;d C;wVkbZy&esFksu** ds IUPAC uke esa tud
Üka`[kyk esa fdrus dkcZu gS&
(1)  4 (2)  5 (3)  6 (4)  7

49. fuEu esa ls fdl :ikUrj.k esa ladj.k rFkk vkÏfr nksuksa esa

ifjorZu vkrk gS ?

(1) CH4 ¾® C2H6 (2) NH3 ¾® NH4
+

(3) BF3 ¾® BF4
– (4) H2O ¾® H3O+

50. cd feULVj Qqyfju gS&
(1) C59 DyLVj (2) C60 DyLVj
(3) C61 DyLVj (4) C62 DyLVj

51. fuEu ;kSfxdksa dks f}/kzqo vk?kw.kZ ds c<+rs Øe esa O;ofLFkr
dhft;s :-
(I) VkWywbZu
(II) m-MkbZDyksjkscsathu
(III) o-MkbDyksjkscsathu
(IV) p-MkbZDyksjkscsathu
(1) I < IV < II < III (2) IV < I < II < III

(3) IV < I < III < II (4) IV < II < I < III

52. fuEu esa fdlesa bysDVªkWu Lusgh dsUnz xyr vafdr gS\
[* bysDVªkWu Lusgh ijek.kq n'kkZrk gS]
(1) CH3HC*=0
(2)  H3C

* –  C º N
(3) *CH3 –  T
(4) mijksDr lHkh lgh gS

53. mPp fo|qr½.krk okyk ijek.kq lkekU;r% j[krk gS :

(1) /kuk;u cukus dh izo`fÙk

(2) mPp vk;uu foHko

(3) cM+k ijek.kq vkdkj

(4) fuEu bysDVªkWu ca/kqrk
54. vuquknh lajpuk dk okLrfod lajpuk esa ;ksxnku &

(1) muds LFkkf;Ro ds vuq:i gksrk gSA
(2) muesa p ca/k dh la[;k ds vuq:i gksrk gS

(3) muesa vkdkj ds vuq:i gksrk gSA

(4) mijksDr esa ls dksbZ ugha
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55. Which set has the strongest tendency to form
anions ?

(1) V, Cr, Mn (2) Ga, In, Tl

(3) Na, Mg, Al (4) N, O, F

56. CH3–CH=CH2 + HBr (C H CO) O6 5 2  CH3 – CH2

            –  CH2 – Br
In above reaction which of the following radical
is not formed-

(1)  C6H5
•            (2)  CH –CH–CH3 2

Br

(3) CH –CH–CH3 2

Br

      (4) All above are formed

57. A neutral atom will have the lowest ionization
potential when electronic configuration is :-

(1) 1s1 (2) 1s2, 2s2 2p6

(3) 1s2, 2s22p6, 3s1 (4) 1s2, 2s2 2p2

58. OH/NaOH/NaBH)2(

THF/OH/)OAc(Hg)1(

24

22 ¾¾¾¾¾¾¾¾ ®¾ A.  A

is –

(1) (2) 

(3) (4) 

59. In which pair, the second atom is larger than
first ?
(1) Br, Cl (2) Na, Mg
(3) Sr, Ca (4) N, P

60.   
D
¾¾¾ ®¾ 42SOH

P (Major)

¾¾ ®¾NBS
Q (Major)

The structure of Q is

(1) (2) 

(3) (4) 

55. dkSulk lewg ½.kk;u cukus dh izcy izÏfr j[krk gS ?

(1) V, Cr, Mn (2) Ga, In, Tl

(3) Na, Mg, Al (4) N, O, F

56. CH3 – CH=CH2 + HBr (C H CO) O6 5 2  CH3 –

      CH2 –  CH2 – Br

mijksDr vfHkfØ;k esa dkSulk eqDr&ewyd ugha curk&

(1)  C6H5
• (2) CH –CH–CH3 2

Br

(3) CH –CH–CH3 2

Br

(4) mijksDr lHkh curs gSa

57. ,d mnklhu ijek.kq dh vk;uu ÅtkZ fuEure gksxh tc
bysDVªkWu foU;kl gks ?

(1) 1s1 (2) 1s2, 2s2 2p6

(3) 1s2, 2s22p6, 3s1 (4) 1s2, 2s2 2p2

58. OH/NaOH/NaBH)2(

THF/OH/)OAc(Hg)1(

24

22 ¾¾¾¾¾¾¾¾ ®¾ A. A gS –

(1) (2) 

(3) (4) 

59. fuEu esa ls fdl ;qXe esa nwljk ijek.kq] izFke ijek.kq ls
cM+k gS ?
(1) Br, Cl (2) Na, Mg
(3) Sr, Ca (4) N, P

60.   
D
¾¾¾ ®¾ 42SOH

P (eq[;) ¾¾ ®¾NBS
Q

(eq[;)
Q dh lajpuk gS %

(1) (2) 

(3) (4) 



H 11/29

14–01–2013PRE-MEDICAL : ENTHUSIAST COURSE

Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

61. Name of the structure of silicate in which three
oxygen atoms of [SiO4]

4– are shared is :-

(1) Pyrosilicate

(2) sheet silicate

(3) linear chain silicate

(4) three dimensional silicate

62. Mixture of one mole each of ethene and
propyne on reaction with Na will form H2 gas
at S.T.P. –
(1) 22.4 L (2) 11.2 L
(3) 33.6 L (4) 44.8 L

63. Which of the following is not hydrolysed easily

(1) CCl4 (2) SiCl4

(3) GeCl4 (4) SnCl4

64. The synthesis of 3-octyne is achieved by adding
a bromoalkane into a mixture of sodium amide
and an alkyne. The bromoalkane and alkyne
respectively are
(1) BrCH2CH2CH2CH2CH3 and CH3CH2CºCH
(2) BrCH2CH2CH3 and CH3CH2CH2CºCH
(3) BrCH2CH2CH2CH2CH3 and CH3CºCH
(4) BrCH2CH2CH2CH3 and CH3CH2CºCH

65. H3BO3 is :-

(1) Monobasic and weak Lewis acid

(2) Monobasic and weak Bronsted acid

(3) Monobasic and strong Lewis acid

(4) Tribasic and weak bronsted acid

66. Which one of the following statements regarding
photochemical smog is not correct?

(1) Photochemical smog is formed through
photochemical reaction involving solar
energy

(2) Photochemical smog does not cause irritation
in eyes and throat.

(3) Carbon monoxide does not play any role in
photochemical smog formation

(4) Photochemical smog is an oxidising agent in
character

67. The solubility of alkali metal hydroxide follows
the order :-

(1) LiOH < NaOH < KOH < RbOH < CsOH

(2) LiOH > NaOH > KOH > RbOH > CsOH

(3) LiOH > CsOH > RbOH > NaOH > KOH

(4) None of these

61. flfydsV dh lajpuk dk uke] ftlesa [SiO4]
4– dh rhu

vkWDlhtu lkf>r gS :-

(1) ik;jksflfydsV
(2) ijr flfydsV
(3) js[kh; J`a[kyk flfydsV
(4) f=fofe; flfydsV

62. ,Fkhu vkSj izksikbu] izR;sd ds ,d eksy ds feJ.k dh fØ;k
Na ds lkFk djkus ij cuh H2 xSl S.T.P. ij gS –

(1) 22.4 L (2) 11.2 L

(3) 33.6 L (4) 44.8 L

63. fuEu esa ls dkSu vklkuh ls ty vi?kfVr ugha gksrk %&
(1) CCl4 (2) SiCl4

(3) GeCl4 (4) SnCl4

64. lksfM;e ,ekbM rFkk ,Ydkbu ds ,d feJ.k esa czkseks,Ydsu

feykus ij 3-vkWDVkbu dk la'ys"k.k izkIr gksrk gS

(1) BrCH2CH2CH2CH2CH3 rFkk CH3CH2CºCH

(2) BrCH2CH2CH3 rFkk CH3CH2CH2CºCH

(3) BrCH2CH2CH2CH2CH3 rFkk CH3CºCH

(4) BrCH2CH2CH2CH3 rFkk CH3CH2CºCH

65. H3BO3 gS :-

(1) ,dy {kkjh; rFkk nqcZy yqbZl vEy
(2) ,dy {kkjh; rFkk nqcZy czkUlVsM vEy
(3) ,dy {kkjh; rFkk izcy yqbZl vEy
(4) f={kkjdh; rFkk nqcZy czkUlVsM vEy

66. QksVksdsfedy Leksx ds lEcU/k esa fn;s x;s fuEu dFkuksa esa

ls dkSu ,d lR; ugha gS\

(1) lkSj ÅtkZ ls lfékfgr QksVksdsfedy vfHkfØ;k ds ekè;e

ls QksVksdsfedy LekWx curk gSA

(2) QksVksdsfedy LekWx vk¡[k vkSj xys esa mÙkstu ugha mRiék

djrk gSA

(3) QksVksdsfedy LekWx fuekZ.k esa dkcZu eksuksvkWDlkbM dh

dksbZ Hkwfedk ugha gksrh gSA

(4) QksVksdsfedy LEkkWx LoHkko esa ,d mipk;d gSA

67. {kkjh; /kkrqvksa ds gkbMªkWDlkbM dh foys;rk dk Øe gS :-

(1) LiOH < NaOH < KOH < RbOH < CsOH

(2) LiOH > NaOH > KOH > RbOH > CsOH

(3) LiOH > CsOH > RbOH > NaOH > KOH

(4) buesa ls dksbZ ugha

Take it Easy and Make it Easy
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68. The IUPAC name of the following compound

CH CH2 3

ICH3

Cl

 is :-

(1) cis-2-chloro-3-iodo-2-pentene

(2) trans-2-chloro-3-iodo-2-pentene

(3) cis-3-iodo-4-chloro-3-pentene

(4) trans-3-iodo-4-chloro-3-pentene
69. NO2 is obtained by heating :-

(1) CsNO3 (2) KNO3

(3) LiNO3 (4) NaNO3

70. Which one of the following is most reactive
towards electrophilic reagent ?

(1) 
CH3

OCH3

(2) 
CH3

OH

(3) 
CH3

NHCOCH3

(4) 
CH3

CH OH2

71. Among CaH2, NH3,  NaH and B2H6, which are
covalent hydride ?

(1) NH3 and B2H6 (2) CaH2 and B2H6

(3) NaH and CaH2 (4) NaH and NH3

72. Given are cyclohexanol (I), acetic acid (II), 2,
4,6–trinitrophenol (III) and phenol (IV). In
these the order of decreasing acidic character
will be :-

(1)  III  > IV > II  > I (2)  III  > II  > IV > I

(3) II > III > I > IV (4)  II  > III  > IV > I

73. The species that does not contain peroxide ions
is :-

(1) PbO2 (2) K2O2

(3) SrO2 (4) BaO2

74. Dissolving 120 g of urea (mol. wt. 60) in 1000g
of water gave a solution of density 1.15 g/mL.
The molarity of the solution is :-

(1) 1.78 M (2) 2.00 M

(3) 2.05 M (4) 2.22 M

75. Which of the following is correct for second
line of Balmer series :-

(1) 4 ¾® 2 (2) 2 ¾® 4

(3) 3 ¾® 1 (4) 5 ¾® 2

68. fuEu ;kSfxd
CH CH2 3

ICH3

Cl

dk vkbZ-;w-ih-,-lh- uke gS:-

(1) fll-2-Dyksjks-3-vk;Mks-2-isUVhu

(2) VªkUl-2-Dyksjks-3-vk;Mks-2-isUVhu

(3) fll-3-vk;Mks-4-Dyksjks-3-isUVhu

(4) VªkUl-3-vk;Mks-4-Dyksjks-3-isUVhu
69. fdls xeZ djus ij NO2 feyrh gS :-

(1) CsNO3 (2) KNO3

(3) LiNO3 (4) NaNO3

70. bysDVªksfQfyd vfHkdkjd ds izfr fuEufyf[kr esa ls dkSu
lokZf/kd lfØ; gksxk ?

(1) 
CH3

OCH3

(2) 
CH3

OH

(3) 
CH3

NHCOCH3

(4) 
CH3

CH OH2

71. CaH2, NH3, NaH rFkk B2H6 esa ls dkSuls lgla;kstd
gkbMªkbM gS ?
(1) NH3 rFkk B2H6 (2) CaH2 rFkk B2H6

(3) NaH rFkk CaH2 (4) NaH rFkk NH3

72. lkbDyksgsDlSuk Wy (I), ,slhfVd vEy (II), 2, 4,6–

VªkbZukbVªksQhukWy (III) vkSj QhukWy (IV) fn;s tkrs gSaA buesa

vEyh; O;ogkj dk ?kVrk Øe gksxk %&

(1)  III  > IV > II  > I (2)  III  > II  > IV > I

(3) II > III > I > IV (4)  II  > III  > IV > I

73. iztkfr ftlesa ijkDlkbM vk;u ugha gS :-

(1) PbO2 (2) K2O2

(3) SrO2 (4) BaO2

74. 120 g ;wfj;k (mol. wt. 60) dks 1000g ty esa ?kksyus
ij foy;u izkIr gksrk gS ftldk ?kuRo 1.15 g/mL bl
foy;u dh eksyjrk gksxh :-
(1) 1.78 M (2) 2.00 M

(3) 2.05 M (4) 2.22 M

75. fuEu esa ls ckej Js.kh dh f}rh;d js[kk ds fy, lgh dFku
gksxk :-
(1) 4 ¾® 2 (2) 2 ¾® 4

(3) 3 ¾® 1 (4) 5 ¾® 2
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76. How many H2O molecules are there in a
snowflake that weight 4.0 × 10–4 g  ?

(1) 1.3 × 1019 (2) 2.4 × 1020

(3) 2.2 × 10–5 (4) 6.02 × 1023

77. One mole of monoatomic ideal gas expands
adiabatically at initial temperature T against a
constant external pressure of 1 atm from 1L to
2L. Find out the final temperature

(R = 0.0821 L atm K–1 mol–1)

(1) T (2) 
5 1
3

T

(2)
-

(3) 
2

T
3 0.082

-
´

(4) 
2

T
3 0.082

+
´

78. The oxidation number of sulphur in S8,  S2F2,
H2S respectively, are :-

(1) 0, +1 and –2 (2) +2, +1 and –2

(3) 0, +1 and +2 (4) –2, +1 and –2

79. The following is not an endothermic reaction

(1) combustion of methane

(2) decomposition of water

(3) dehydrogenation of ethane to ethylene

(4) conversion of graphite to diamond

80. If x gram of a metal forms y gram of metal
chloride, equivalent weight of metal is :-

(1) 
y x
35.5 x

-
(2) 

35.5 y
y x-

(3) 
35.5x
y x- (4) 

x
35.5(y x)-

81. The bond energy (in kJ mol–1) of C–C single
bond is approximately :-
(1)  1 (2) 400 (3) 100 (4) 1000

82. In the titration of a certain H2SO4 solution,
60 mL of 5.0 M NaOH solution was used to
completely neutralize 75 ml of the acid. The molarity
of the acid solution may be expressed as:-

(1) 
5M 50 mL
2 75mL

´
´       (2)  

5M 75mL 2
60 mL

´ ´

(3) 
75 mL 2

5.0 M 60 mL
´

´     (4) 
60 mL 75 mL 2

5.0 M
´ ´

76. ,d cQZ dk VqdM+k ftldk Hkkj 4.0 × 10–4 g gS blesa
H2O v.kqvksa dh la[;k gksxh ?

(1) 1.3 × 1019 (2) 2.4 × 1020

(3) 2.2 × 10–5 (4) 6.02 × 1023

77. ,d eksy ,dijekf.o; vkn'kZ xSl dks :¼ks"e izØe }kjk
izkjfEHkd rki T ij fu;r cká nkc 1 atm ds fo:¼
izkjfEHkd vk;ru 1L ls 2L rd izlkfjr fd;k tkrk gS] rks
vafre rki gksxk
(R = 0.0821 L atm K–1 mol–1)

(1) T (2) 
5 1
3

T

(2)
-

(3) 
2

T
3 0.082

-
´

(4) 
2

T
3 0.082

+
´

78. S8, S2F2, H2S esa lYQj dh vkWDlhdj.k voLFkk,sa Øe'k%
gksxh :-

(1) 0, +1 o –2 (2) +2, +1 o –2

(3) 0, +1 o +2 (4) –2, +1 o –2

79. fuEu esa ls dkSulh ,d m"ek'kks"kh vfHkfØ;k ugha gS :-
(1) esFksu dk ngu
(2) ty dk VwVuk
(3) ,sFksu dk fogkbMªkstuhdj.k djds ,Fkkbyhu esa cnyuk
(4) xzsQkbZV dk Mk;e.M esa cnyuk

80. ;fn x xzke /kkrq y xzke /kkrq DyksjkbM nsrk gS] rks /kkrq dk
rqY;kadh Hkkj gksxk :-

(1) 
y x
35.5 x

-
(2) 

35.5 y
y x-

(3) 
35.5x
y x- (4) 

x
35.5(y x)-

81. C–C ,dy ca/k dh ÅtkZ (kJ/mol) yxHkx gksxh :-

(1)  1 (2) 400 (3) 100 (4) 1000

82. H2SO4 ds foy;u dk vuqekiu djus ij] 60 mL,
5.0 M NaOH foy;u iw.kZr;k vEy ds 75 ml }kjk
mnklhu gks tkrk gS] rks vEy ds foy;u dh eksyjrk
gksxh :-

(1) 
5M 50 mL
2 75mL

´
´       (2)  

5M 75mL 2
60 mL

´ ´

(3) 
75 mL 2

5.0 M 60 mL
´

´     (4) 
60 mL 75 mL 2

5.0 M
´ ´

fdlh iz'u ij nsj rd :dks ugha A
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83. The species which by definition has zero standard
molar enthalpy of formation at
298K is :-
(1) Br2(g) (2) Cl2(g)

(3) H2O(g) (4) CH4(g)
84. The rate of diffusion of methane at a given

temperature is twice that of a gas X. The
molecular weight of X is :-
(1) 64.0 (2) 32.0
(3) 4.0 (4) 8.0

85. For the chemical reaction,

3X(g) + Y(g) ������  X3Y(g)

the amount of X3Y at equilibrium is affected
by :-
(1) temperature and pressure
(2) temperature only
(3) pressure only
(4) temperature, pressure and catalyste

86. The term that corrects for the attractive forces
present in a real gas in the van der Waal's
equation is :-
(1) nb (2)  n2a/V2

(3) –(n2a/V2) (4) –nb
87. Of the given anions, the strongest base is :-

(1) ClO– (2) ClO2
–

(3) ClO3
– (4) ClO4

–

88. Which of the following is not a legal set of
quantum numbers for an electron in an atom?
(1) n = 5, l = 3,  m

l
 =  2,  ms = 1/2

(2) n = 3, l = 2,  m
l
 =  3,  ms = –1/2

(3) n = 2, l = 1,  m
l
 =  0,  ms = –1/2

(4) n = 6, l = 3,  m
l
 =  –3,  ms = 1/2

89. The precipitate of CaF2 (Ksp = 1.7 × 10–10) is
obtained when equal volumes of the following
are mixed :-
(1) 10–4 M Ca2+ + 10–4 MF–

(2) 10–2 M Ca2+ + 10–3 MF–

(3) 10–5 M Ca2+ + 10–3 MF–

(4) 10–3 M Ca2+ + 10–5 MF–

90. The number of radial nodes in 3s and 2p
respectively are :-
(1) 2 and 0 (2) 0 and 2
(3) 1 and 2 (4) 2 and 1

83. fuEu esa ls fdlds fy, 298K rki ij ekud fuekZ.k dh

,sUFksYih 'kwU; gksxh :-

(1) Br2(g) (2) Cl2(g)

(3) H2O(g) (4) CH4(g)

84. ;fn fdlh rki ij CH4 ds folj.k dh nj X ds folj.k

dh nj nqxquh gS] rks X dk v.kqHkkj gksxk :-

(1) 64.0 (2) 32.0

(3) 4.0 (4) 8.0

85. jklk;fud vfHkfØ;k

3X(g) + Y(g) ������  X3Y(g)

ds fy, lkE; ij X3Y dh ek=k izHkkfor gksxh :-

(1) rki o nkc

(2) dsoy rki

(3) dsoy nkc

(4) rki] nkc  o mRizsjd
86. okUMjoky xSl lehdj.k esa fuEu esa ls dkSu vUrjvkf.od

vkd"kZ.k dks n'kkZrk gS :-

(1) nb (2)  n2a/v2

(3) –(n2a/v2) (4) –nb

87. fuEufyf[kr vk;uksa esa ls] izcyre {kkj gksxk :-
(1) ClO– (2) ClO2

–

(3) ClO3
– (4) ClO4

–

88. fuEu esa ls dkSulk Dok.Ve la[;kvksa dk leqPp; lgh
ugha gS ?
(1) n = 5, l = 3,  m

l
 =  2,  ms = 1/2

(2) n = 3, l = 2,  m
l
 =  3,  ms = –1/2

(3) n = 2, l = 1,  m
l
 =  0,  ms = –1/2

(4) n = 6, l = 3,  m
l
 =  –3,  ms = 1/2

89. CaF2 (Ksp = 1.7 × 10–10) dk vo{ksi izkIr gksxk tc

fuEufyf[kr dk cjkcj vk;ru feyk;k tk;s :-

(1) 10–4 M Ca2+ + 10–4 MF–

(2) 10–2 M Ca2+ + 10–3 MF–

(3) 10–5 M Ca2+ + 10–3 MF–

(4) 10–3 M Ca2+ + 10–5 MF–

90. 3s o 2p esa f=T; uksM dh la[;k Øe'k% gksxh :-

(1) 2 o 0 (2) 0 o 2

(3) 1 o 2 (4) 2 o 1

LoLFk jgks] eLr jgks rFkk i<+kbZ esa O;Lr jgks A
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91. Which character defines a species, but not used
in plant taxonomy :-
(1) Morphological resemblance
(2) Biochemical resemblance
(3) Anatomical characters
(4) Interbreeding

92. Which of the following statement is false :-
(1) Cell division is a progressive process and

very clear cut line can be drawn between
various stages.

(2) M phase is the most dramatic period of the
cell cycle.

(3) Animal cell and plant cell are undergo
cytokinesis by a different mechanism

(4) Plants can show mitotic division in both
haploid and diploid cells.

93. Copeland classified the brown algae and red algae
in protista, but whittaker classified them in :-
(1) Monera
(2) Mycota
(3) Plantae
(4) Whittaker also classified them in protista

94. In Anaphase of mitosis :-
(A) Chromosomes are moved to spindle equator

and get aligned along metaphase plate
(B) Centromere of each chromosome is toward

the equator when chromosomes move away
from the equatorial plate.

(C) Each chromosomes arranged at the metaphase
plate split simultaneously.

(1) A, B, incorrect and C correct

(2) B, C incorrect and A correct

(3) A, C incorrect and B correct
(4) A, B, C correct

95. Sporophyte of Funaria begins its development
inside :-
(1) Archegonium (2) Protonema
(3) Antheridium (4) Capsule

96. The interval between mitosis and initiation of
DNA replication is represent :-

(1) Gap 1 phase

(2) Synthesis phase

(3) Gap 2 phase

(4) Quiescent phase

91. dkSulk y{k.k tkfr dks ifjHkkf"kr djrk gS, ijUrq ikni ofxZdh
esa mi;ksx ugha vkrk :-
(1) vkdkfjdh lekurk
(2) tSo jlk;u lekurk
(3) 'kkjhjhdh y{k.k
(4) vUrj iztuu (Interbreeding)

92. fuEu esa ls dkSulk rF; xyr gSa :-
(1) dksf'kdk foHkktu ,d izxfr'khy izfØ;k gS vkSj bldh

fofHkUu voLFkkvksa ds chp Li"V :i ls foHkktu fd;k
tk  ldrk gSA

(2) M iz kOkLFkk dksf'kdk pØ dh lokZf/kd ukVdh; voLFkk
gksrh gSA

(3) izk.kh dksf'kdk o ikni dksf'kdk esa dksf'kdknzO ;
foHkktu fHkUu izfØ;kvksa  }kjk lEiUu gksrk gSA

(4) ikniksa esa lw=h foHkktu vxqf.kr o f}xq.khr nksuksa
dksf'kdkvksa esa gksrk gSA

93. dkWiysUM us Hkwjs 'kSoky rFkk yky 'kSoky dks izksVhLVk esas
oxhZÏr fd;k gS] ijUrq fOgVsdj us bUgs oxhZÏr fd;k gS :-
(1) eksusjk
(2) ekbdksVk (dod)
(3) IykUVh
(4) fOgVsdj us Hkh bUgsa izksVhLVk esa oxhZÏr fd;k

94. lw=h foHkktu dh i'pkoLFkk esa :-
(A) xq.klq= e/;js[kk dh vksj tkdj e/;koLFkk iV~fVdk

ij iafDrc¼ tek gks tkrs gSA
(B) tc izR;sd xq.klq= e/;ka'k iV~fVdk ls dkQh nwj tkus

yxrs gSa rc izR;sd dk xq.klq=fcanq e/;ka'k iV~fVdk dh
vkSj gksrk gSA

(C) e/;koLFkk iV~fVdk ij vk, izR;sd xq.klq= ,d lkFk
vyx gksus yxrs gSA

(1) A, B, vlR; rFkk C lR;

(2) B, C vlR; rFkk A lR;

(3) A, C vLkR; rFkk B lR;

(4) A, B, C lR;
95. ¶;wusfj;k dk chtk.kqn~fHkn fuEu ds vUnj viuk fodkl

izkjEHk djrk gS :-
(1) L=ha/kkuh (2) izksVsfuek
(3) iqa/kkuh (4) dsIlwy

96. lelw=h foHkktu ,oa DNA  iz frÏfrdj.k ds chp vaarjky
fdldks iznf'kZr djrk gS :-

(1) Gap 1 voLFkk

(2) la'ys"k.k voLFkk

(3) Gap 2 voLFkk

(4) 'kkar voLFkk

J ges'kk eqLdjkrs jgsa A
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97. Which of the following is correct regarding Cycas:-
(1) The same sporophyll bears microsporangia

and ovule
(2) A single cone consist of both mega &

microsporophylls
(3) Male strobillus and mega sporophylls occur

on the same plant
(4) Male strobillus and mega sporophylls occur

on separate plants
98. Three of the following statements regarding cell

organelles are correct while one is wrong which
one is wrong.:-
(1) In chloroplast many flat membranous tubules

are present called the stroma lamellae
connecting the thylakoids of the different
grana.

(2) 'S' (sedimentation coefficient) is a direct
measurement of density and size.

(3) The central part of the proximal region of
the centriole is proteinaceous called the hub.

(4) In animal SER is the major site for synthesis
of lipid as well as steroidal hormones.

99. On the Basis of characters in group A & group
B identify the correct :-

Group - A Group-B
(i) Land plant (i) Land plant
(ii) Plant body (ii) Sporophyte is divided

forms thallus in to root, stem &
leaves

(iii) Gemma cups (iii) Vascular tissue is
present on present
dorsal surface

(iv) Multicellular (iv) Fruits are absent
scales are
present

(v) Gametophytic (v) Seeds are present
plant body

Options :-

(1) A - Spirogyra B - Riccia

(2) A - Cycas B - Pinus

(3) A - Marchantia B - Cycas

(4) A - Pinus B - Marchantia

100. The lipid component of the membrane mainly
consist of :-
(1) Phosphoglycerides (2) Phosphodiester
(3) Cholestrol (4) Cutin

97. fuEu esa ls dkSulk lkbdl ds lEcU/k esa lgh gS :-
(1) ,d gh chtk.kqi.kZ ij y?kqchtk.kq/kkuh;ka ,oa chtk.M

dk gksuk
(2) ,d gh 'kadq ij xq: ,oa y?kq chtk.kqi.kZ dk gksuk

(3) uj lewg 'kadq (Strobillus) ,oa xq: chtk.kq i.kZ dk
,d gh ikni ij gksuk

(4) uj lewg 'kadq ,oa xq: chtk.kqi.kZ dk vyx-vyx ikniksa
ij gksuk

98. dksf'kdk axdk s a  ds fo"k; esa  fuEufyf[kr es a  ls rhu

dFku lgh gSa vkSj ,d dFku xyr gSA dkSu lk dFku

xyr gS :-
(1)  dbZ piVh f>Yyhuqek ufydka, tks xz suk ds fofHkUUk

FkkbysdksbM dks tksM+rh gS mls ihfBdk iV~Vkfydk,a
dgrs gSA

(2) 'S' (volknu xq.kkad) ijks{k :i esa vkdkj o ?kUkRo
dks O;Dr djrk gSA

(3) rkjddsUnz dk vxz fHkrjh Hkkx izksVhu dk cuk gksrk gS
ftls /kqjh dgrs gSA

(4) SER izkf.k;k sa esa fyfiM la'ys"k.k ds lkFk&lkFk
LVhjk;My gkeksZu la'ys"k.k ds Hkh eq[; LFky gksrs gSaA

99. lewg A rFkk lewg B ds y{k.kksa ds vk/kkj ij lgh dks
ifgpkfu, :-

lewg -  A lewg-B
(i) LFkyh; ikni (i) LFkyh; ikni
(ii) iknidk; FkSyl (ii) chtk.kqn~fHkn ewy]

cukrh gS ruk rFkk ifÙk;ks esa
foHkkftr gksrh gS

(iii) i`"B lrg ij (iii) laogu mÙkd dh
tSek di mifLFkfr

(iv) cgqdksf'kdh; (iv) Qy dh vuqifLFkfr
LdsYl
dh mifLFkfr

(v) ;qXedksn~fHkn (v) cht dh mifLFkfr
iknidk;

fodYi :-

(1) A - Likbjksxk;jk B - fjfDl;k

(2) A - lkbdl B - ikbul

(3) A - ekdsZfU'k;k B - lkbdl

(4) A - ikbul B - ekdsZfU'k;k

100. dksf'kdk f>Yyh esa ik, tkus okyh fyfiM+ ?kVd eq[;r%
fdlds cus gksrs gSa :-
(1) QkLQksfXyljkbM~l (2) QkLQksMkbLVj
(3) dksysLVsjky (4) D;qVhu
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101. Thallophyta & Bryophyta are correctly termed as-
(1) Phanerogames
(2) Cryptogames
(3) Non- Vascular cryptogames
(4) Vascular cryptogames

102. A network of filamentous structure present in the
cytoplasm which are involved in many function
such as mechanical support, motility, maintains
of the shape of the cell. This elaborate network
of filamentous are ........ structures present in the
cytoplasm is collectively refered to as the ..........:-
(1) Lipoidal, plasma membrane
(2) Cytoskeleton, proteinaceous
(3) Proteinaceous, centriole
(4) Proteinaceous, cytoskeleton

103. Read the following statements and give the answer
that is asked below :-
(A) Members are found in aquatic habitate
(B) Spores are endogenously produced in

sporangium
(C) Zygospores are formed by fusion of two

gametes
(D) They show all type of syngamy
Above statements are related to which class of
fungi -
(1) Phycomycetes (2) Ascomycetes
(3) Basidiomycetes (4) Deuteromycetes

104. An organelle which is surrounded by double
membrane structure contain small circular DNA
molecule, ribosome and also having the site for
oxidative phosphorylation is :-
(1) Chloroplast (2) Centriole
(3) Mesosome (4) Mitochondria

105. Find out the incorrect statement in the following:-
(1) Bryophytes in general are of little economic

importance
(2) Vegetative reproduction in mosses is by

fragmentation and budding
(3) Gemmae are green, unicellular asexual bud
(4) Mosses have elaborate mechanism of spore

dispersal
106. Function like cell growth, Formation of inter

cellular junction etc are possible due to which
nature of the membrane :-
(1) Selective permeable nature
(2) Living nature
(3) Fluid nature
(4) Stable nature

101. FkSyksQkbVk ,oa czk;ksQkbVk lgh tkuk tkrk gS :-
(1) Qsusjk sxsEl
(2) fØIVksxsEl
(3) vlaoguh; fØIVksxsEl
(4) laoguh; fØIVksxsEl

102. foLr`r tkfydkor~ rarq tks dksf'kdknzO; esa feyrs gSa fofHkUu

dk;ksZa esa mi;ksxh gksrs gSA tSlss& ;kaf=d lgk;rk] xfr o

dksf'kdk ds vkdkj dks cuk,A ;s -------- foLr̀r tkfydkor

rarq gksrs gSa tks dksf'kdknzO; esa feyrs gSa bUgsa------- dgrs gSa:-

(1) fyfIkM+ ;qDr] dksf'kdk f>Yyh

(2) lkbVksiatj] izksVhu ;qDr

(3) izksVhu ;qDr] lsUVªhvksy

(4) izksVhu ;qDr] lkbVksiatj
103. fuEufyf[kr dFkuksa dks if<, rFkk tks uhps iwNk x;k gS mldk

mÙkj nhft, :-
(A) lnL; tyh; vkokl esa ik, tkrs gSa

(B) chtk.kq chtk.kq/kkuh esa vUrZtkr curs gSa

(C) nks ;qXedks ds lay;u ls ;qXek.kq curs gSa

(D) ;s lHkh izdkj dh  ;qXedrk iznf'kZr djrs gSa

mijksDr dFku dod dh dkSuls oxZ ls lEcfU/kr gS -

(1) QkbdksekblhVht (2) ,LdksekblhVht

(3) csflMh;ksekblhVht (4) M~;wVsjksekblhVht

104. og dkSulk dksf'kdkax gS tks nksgjh f>Yyh ls f?kjk gqvk] NksVk

f}YkMh DNA v.kq o jkbckslkse j[krk gSa rFkk vkfDldkjh

QkLQksfydj.k esa lgk;d gksrk gS:-

(1) gfjr yod (2) rkjd dsUnz

(3) ehlkstkse (4) Lkq= df.kdk
105. fuEufyf[kr esa ls xyr dFku dks crkb, :-

(1) czk;ksQkbV dk cgqr de vkfFkZd egÙo gS

(2) ekWl esa dkf;d tuu f}rh;d izFke rUrq ds fo[k.Mu
rFkk eqdqyu }kjk gksrk gS

(3) tseh gjh] ,ddksf'kdh,] vySafxd dfy;k¡ gSA

(4) ekWl esa chtk.kq fofdj.k dh cgqr foLr̀r iz.kkyh gksrh
gS A

106. dk;Z tSls dksf'kdk o`f¼] vrajdksf'kdh; la;kstu bR;kfn

f>Yyh dh dkSu lh izÏfr ds dkj.k lEHko gq , gS :-

(1) p;ukRed ikjxE; izÏfr
(2) thfor izÏfr
(3) rjyh; izÏfr
(4) LFkk;hRo izÏfr
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107. Plants of this group are diploid and well adapted
to extreme conditions they grow bearing
sporophyll in compact structure called cones the
group in reference is :-
(1) Monocot (2) Dicot
(3) Pteridophytes (4) Gymnosperm

108. A transcription unit in DNA is defined primarily
by :-
(1) UTR + TR region
(2) A promoter, structural gene and terminator
(3) Only promotor & terminator
(4) Only terminator

109. Read the following statement & find the statement
that is incorrect :-
(1) Rhodophyceae are marine with greater

concentration found in the warmer areas
(2) Mosses and liverworts are found in moist

shaded areas in the hills
(3) Pteridophytes are found in cool, damp shady

places, never in sandy soil
(4) Angiosperms are an exceptionally large group of

plants occuring in wide range of habitats
110. During DNA replication process,

deoxyribonucleoside triphosphate act as :-
(1) Substrate (2) Energy source
(3) Enzyme (4) Both (1) & (2)

111. Match the column-I with column-II :-
Column-I Column-II

(a) Phycomycetes (i) Imperfect fungi
(b) Ascomycetes (ii) Mushroom
(c) Basidiomycetes (iii) Morels
(d) Deuteromycetes (iv) Aquatic fungi
(1) a - i b - ii c - iii d - iv
(2) a - iii b - iv c - ii d  -  i
(3) a - iv b - iii c - ii d  -  i
(4) a - iv b - iii c  -  i d - ii

112. Which of the following is structural
polysaccharide :-
(1) Starch (2) Glycogen
(3) Chitin (4) Insulin

113. Which of the following is not true with reference
to taxonomy :-
(1) A taxon always belongs to a category
(2) A category indicates a taxonomic rank
(3) In taxonomic heirarchy various taxa are

arranged in their descending order
(4) Ales suffix is used for family

107. bl lewg ds ikni f}xqf.kr gS rFkk izfrdwy ifjfLFkfr;ksa
ds fy, vuqdwfyr gk sr s gSa] ftuesa chtk.k qi.k Z l?ku
lajpuk cukrh gS] ftls 'k adq dgrs gSa] blls lEcfU/kr
lewg gS :-
(1) ,dchti=h (2) f}chti=h
(3) VsfjMksQkbV~l (4) ftEeksLieZ

108. DNA ds vuqys[ku bdkbZ dks fdlds }kjk ifjHkkf"kr fd;k
tkrk gS :-
(1) UTR + TR region
(2) ,d izeksVj ] lajpukRed thu o VfeZusVj
(3) dsoy izeksVj o VfeZusVj
(4) dsoy VfeZusVj

109. fuEufyf[kr dFkuksa dks if<+, rFkk og dFku crkb, tks lgh
ugha gS :-
(1) jksMksQkblh leqnz  esa ik, tkrs gSa vkSj budh cgqyrk leqnz

ds xeZ {ks=ksa esa vf/kd gksrh gS
(2) ekWl rFkk fyojoVZ igkfM;ksa esa ue rFkk Nk;knkj {ks=ksa

esa ik, tkrs gSa
(3) VsfjMksQkbV~l B.Mk] xhyk] Nk;knkj {ks=ksa esa gksrs gS] jsrhyh

feV~Vh esa dHkh ugha gksrs
(4) ,fUt;ksLieZ viokn Lo:i ,sls ikni dk cM+k leqnz

gS ftudk oklLFkku cgqr O;kid gSA
110. DNA izfrÏfr ds nkSjku MhvkWDlhjkbcksU;qfDy;kslkbM

VªkbQkWLQsV fuEu ds :i esa dk;Z djrk gS :-
(1) fØ;kdkjd (2) ÅtkZ L=ksr
(3) ,Utkbe (4) (1) o (2) nksuksa

111. dkWye-I dk dkWye-II ls esy dhft, :-
dkWye-I dkWye-II

(a) QkbdksekblhVht (i) viw.kZ dod
(b) ,LdksekblhVht (ii) e'k:e
(c) csflMh;ksekblhVht (iii) eksjsYl
(d) M~;wVsjkseblhVht (iv) tyh; dod
(1) a - i b - ii c - iii d - iv
(2) a - iii b - iv c - ii d  -  i
(3) a - iv b - iii c - ii d  -  i
(4) a - iv b - iii c  -  i d - ii

112. fuEu esa ls dkSulk lajpukRed ikWyhlSdsjkbM gS :-

(1) Starch (2) Glycogen

(3) Chitin (4) Insulin

113. oxhZdh ds lEcU/k esa blesa ls dkSulk lR; ugha gS :-

(1) ,d oxZd ges'kk loaxZ ls lEcfU/kr gS

(2) ,d laoxZ] okfxZdh in dks iznf'kZr djrk gS

(3) ofxZdh inkuqØe esa dbZ oxZd vojksgh Øe esa O;ofLFkr

fd, tkrs gSa

(4) dqy esa ales vuqyXu mi;ksx fd;k tkrk gS
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114. Rich source of polyunsaturated fatty acid in the
diet is :-
(1) Milk (2) Butter
(3) Vegetable oil (4) Egg

115. Numerical taxonomy based on :-
(1) All observable characters
(2) Cytological informations
(3) Chemical constituents
(4) Economic importance

116. Maximum energy is produced by oxidation of-
(1) Carbohydrates (2) Mineral
(3) Protein (4) Fat

117. Which of the following classification is
phylogenetic for entire plant group but among
angiosperm it is not phylogenetic :-
(1) Bentham & Hooker classification
(2) Engler & Prantl's classification
(3) Hutchinson classification
(4) Oswald tippo classification

118. Simple sugar of the blood :-
(1) Sucrose (2) Lactose
(3) Glucose (4) Galactose

119. Find out the incorrect statement in the following:-
(1) Pyrenoids contains proteins besides starch
(2) Asexual reproduction in brown algae by

biflagellated zoospores
(3) The red algae usually reproduce vegetatively

by budding
(4) Chlamydomonas is a unicellular motile algae

120. Which of the following is not a macromolecule-
(1) Amino acid (2) Nucleic acid
(3) Protein (4) Starch

121. In Pteridophyta after germination of spore a free
living gametophyte is formed that, has following
characters :-
(1) Inconspicuous
(2) Small
(3) Mostly photosynthetic
(4) All of the above

122. Which of the following statements are incorrect

(1) Amino acids are substituted methane

(2) Lipids are generally insoluble

(3) Each protein is a polymer of amino acids

(4) Paper made from plant pulp is cellulose

114. [kkus esa polyunsaturated olk dk eq[; L=ksr gS :-

(1) Milk (nw/k) (2) Butter (eD[ku)

(3) Vegetable oil (4) Egg (v.Mk)

115. la[;kRed ofxZdh bl ij vk/kkfjr gS :-
(1) lHkh voyksduh; y{k.kksa ij
(2) dksf'kdh; lwpukvksa ij
(3) jlk;fud laxBd ij
(4) vkfFkZd egÙo ij

116. fdlds oxidation ls vf/kdre ÅtkZ curh gS -
(1) Carbohydrates (2) Mineral
(3) Protein (4) olk

117. fuEu esa ls dkSulk oxhZdj.k lHkh ikni lewg ds fy,
tkfro`fÙk; gS ijUrq ,fUt;ksLieZ es a ;g tkfro`fÙk; ugh
gS :-
(1) csUFke ,oa gqdj oxhZdj.k
(2) ,Uxyj ,oa izsUVy oxhZdj.k
(3) gphUlu oxhZdj.k
(4) vkWlokYM - fVIiks oxhZdj.k

118. jDr dh lkekU; 'kdZjk gS :-
(1) Sucrose (2) Lactose
(3) Glucose (4) Galactose

119. fuEufyf[kr esa ls xyr dFku dks NkafV, :-
(1) ikbjhukWbM LVkpZ ds vykok izksVhu j[krs gSa
(2) Hkwjs 'kSoky esa vySafxd tuu f}d'kkfHkdh, ty chtk.kq

ls gksrk gS
(3) yky 'kSoky izk;% dkf;d tuu eqdqyu ls djrh

gS
(4) DySekbMkseksukl ,d dksf'kdh; py 'kSoky gS

120. fuEu esa ls dkSulk (macromolecule) o`gn~ v.kq ugha gS-
(1) Amino acid (2) Nucleic acid
(3) Protein (4) Starch

121. VsfjMk sQkbVk es a  chtk.k q  ds vadqj.k ds ckn LorU=
thoh ;q Xedk sn ~ fH kn curk g S] ftles a  y{k. k gk sr s
g Sa  :-
(1) vLi"V
(2) NksVk
(3) izk;% izdk'k la'ys"kh
(4) mijksDr lHkh

122. fuEu esa ls dkSulk dFku lgh ugha gS :-

(1) vehuks vEy izfrLFkkfir ehFksu gSa

(2) olk lkekU;r;k ?kqyu'khy gksrs gSa

(3) izR;sd izksVhu vehuks vEy ds cgqyd gksrs gSa

(4) dkxt ikS/kksa dh yqxnh ls cuk gksrk gS tks lsY;qykst gksrk gS

viuh {kerk dks iwjk olwyus dk iz;kl djs a A
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123. In the life cycle pattern of bryophyta following
character is not present :-

(1) Exhibit Intermediate condition

(2) Dominant gametophyte

(3) Short lived unicellular sporophyte

(4) Dependent sporophyte

124. In cockroach oxygen from the air is transported
to all the parts by :-

(1) Diffusion through body wall

(2) Tracheal tubes

(3) Haemocyanin of plasma

(4) Haemolymph
125. Unlike Bryophytes & Pteridophytes in ......(A)....

the male & the female gametophyte do not have
.......(B).............. existance
In above statement fill A & B :-
(1) A : Angiosperm; B : Independent free living
(2) A : Gymnosperm; B : Dependent
(3) A : Algae; B : Free Living
(4) A : Gymnosperm; B : Independent free living

126. In Periplaneta, all of the following structures are
involved in formation of spermatophore except :-

(1) Phallic Gland

(2) Long tubules of mushroom gland

(3) Collaterial gland

(4) Ejaculatory duct

127. Consider the following four statements (a-d) and
select the option which includes all the correct
ones only :-

(a) Faecal accumulation in the small intestine
initiates a neural reflex causing an urge for its
removal.

(b) Reflex action for vomiting is controlled by
medulla.

(c) Abnormal frequency bowel movements cause
diarrhoea

(d) Bowel movement cause "Vomiting is the
ejection of stomach contents through mouth.

(1) Statements (a), (c) and (d)

(2) Statements (a), (b) and  (d)

(3) Statements (c), (d) and (b)

(4) Statements (a), (b), and (c)

123. czk;ksQkbVk tho pØ izØe esa fuEu esa ls dkSulk y{k.k ugha
gksrk :-

(1) e/;LFk voLFkk iznf'kZr djrk gS

(2) izHkkoh  ;qXedksn~fHkn

(3) vYi vk;q ,d dksf'kdh; chtk.kqn~fHkn

(4) fuHkZj chtk.kqn~fHkn

124. dkWdjksp esa] ok;q ls vkDlhtu dk 'kjhj ds lHkh Hkkxksa rd
ifjogu fd;k tkrk gSA :-

(1) nsg fHkfä ls folj.k }kjk

(2) 'okl uky }kjk

(3) IykTek esa ghekslkbfuu }kjk

(4) :f/kj yfldk }kjk
125. ...........(A)................ esa cz k;ksQkbV ,oa VsfjMksQkbV dh

rjg uj rFkk eknk ;qXedksn~fHkn .......(B).............. ugha gksrk
gSA
mijksDr dFku esa A rFkk B dks Hkfj,%&
(1) A : ,fUt;ksLieZ; B : LorU= eqDr thoh
(2) A : ftEuksLieZ; B : fuHkZj
(3) A : 'kSoky; B : eqDr thoh
(4) A : ftEuksLieZ; B : LorU= eqDr thoh

126. isjhIysusVk esa] dsoy ,d dks NksM+dj 'ks"k lHkh 'kqØk.kq/kj
ds fuekZ.k esa Hkkx ysrs gS]  og ,d gS :-

(1) f'k'uh; xazfFk

(2) N=d xazfFk dh cM+h ufydk,¡

(3) 'ys"kd xzafFk

(4) L[kyu okfguh
127. fuEufyf[kr pkj dFkuks a  (a-d) ij fopkj dhft,

vk Sj dsoy lHkh lgh dFkuk s a  okyk ,d fodYi
pqfu, %&

(a) NksVh vkaék esa ,df=r ey raf=dk izfrorhZ dks 'kq: djrk

gSA

(b) oeu (mYVh) ds fy, izfrorhZ fØ;k esM~;wyk  }kjk

fu;af=r gksrh gSA

(c) vka= dh vilkekU; xfr'khyrk izokfgdk dgykrh gSA

(d) oeu vkek'k; esa laxzfgr inkFkks Z dks eq[k ls ckgj

fudyus dh fØ;k gS

(1) dFku (b), (c) o (d)

(2) dFku (a), (b) o  (d)

(3) dFku (c), (d) o  (b)

(4) dFku (a), (b), o (c)



H 21/29

14–01–2013PRE-MEDICAL : ENTHUSIAST COURSE

Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

128. Albumins :-
(1) Are involved in defense mechanism of

body.
(2) Help in osmotic balance
(3) Needed for clotting of blood
(4) Help in transport of respiratory gases.

129. How many enzymes in the list given below are
found in intestinal juice ?

Trypsin, Pepsin, Sucrase, Aminopeptidase,
Lactase, Rennin, Carboxypeptidase, Nuclease,
Maltase, Enterokinase

(1) Six (2) Three

(3) Four (4) Five
130. Given below are mouth parts of cockroach,

Identify them and find out the correct answer
representing (i) to (iv) :-

(i) (iii) (iv)(ii)

 (1) (i)-Mandible (ii)-Maxilla (iii) -Labrum (iv)-Labium

 (2) (i)-Mandible(ii)-Maxilla(iii)-Labium (iv)-Labrum

 (3) (i)-Maxilla (ii)-Mandible(iii)-Labium(iv)-Labrum

 (4) (i)-Maxilla (ii)-Mandible(iii)-Labrum (iv)-Labium

131. In infection in alimentary can be caused by-
(1) Tape worm
(2) Hook worm
(3) Round worm

(4) All the above
132. Compound epithelium is found in :-

A - Dry surface of the skin
B - Tubular parts of nephrons
C - Inner lining of ducts of salivary glands
D - inner lining of stomach
(1) A and B (2) B, C and D
(3) A, B and C (4) A, C and D

133. Common characteristics of all vertebrates without
exception is -
(1) well developed skull & vertebral column
(2) exoskeleton
(3) Two pairs of functional appendages
(4) Body is distinguished into head neck, trunk

& tail

128. ,Ycwfeu :-

(1) 'kjhj ds lqj{kk fØ;kvksa esa lfEefyr gksrs gaSA

(2) ijklj.k larqyu esa lgk;d gSA

(3) jDr Ladnu ds fy, vko';d gSA

(4) 'olu xSlksa ds ifjogu esa lgk;d gSA

129. uhps nh xbZ lwph esa ls fdrus ,UtkbEl vXuk'k; jl esa ik;s
tkrs gSa\

fVªfIlu] isfIlu] lwdjst] ,feuksisfIVMst] ysDVst] jsfuu]

dkcksZDlhisfIVMst] U;wfDy,st] ekYVst] ,UVhjksdkbZust

(1) N% (2) rhu

(3) pkj (4) ik¡p
130. uhps fn;s x;s fp= dkWdjksp ds eq[kkax gSA bUgsa igpkfu, rFkk

(i) ls (iv)  dks fu:fir djus okys lgh mÙkj dk p;u
dhft, :-

(i) (iii) (iv)(ii)

    (1) (i)-eSfMacy   (ii)-eSfDlyk  (iii) -yscze  (iv)-ysfc;e

    (2) (i)-eSfMacy   (ii)-eSfDlyk (iii) -ysfc;e   (iv)-yscze

    (3) (i)-eSfDlyk    (ii)-eSfMacy (iii) -ysfc;e   (iv)-yscze

    (4) (i)-eSfDlyk   (ii)-eSfMacy (iii) -yscze   (iv)-ysfc;e

131. vka= dk laØe.k fdlds dkj.k gksrk gS \
(1) Qhrk d`fe
(2) gqd d`fe
(3)  xksy d`fe
(4) mijksDr lHkh

132. la;qDr midyk ik;h tkrh gS :-
A - Ropk dh 'kq"d lrg esa
B - o`Dddksa ds ufydkdkj Hkkxksa esa
C - ykj xzfUFk;ksa dh okfgfu;ksa ds Hkhrjh vkLrj esa
D - vkek'; ds Hkhrjh Lrj esa
(1) A o B (2) B, C o D
(3) A, B o C (4) A, C o D

133. d'ks:fd;ksa esa ik;s tkus okys lkekU; y{k.k fcuk fdlh

viokn ds gS&

(1) iw.kZ fodflr diky vkSj d'ks:d uky

(2) ckg~; dadky

(3) nks tksM+h fodflr iSj

(4) 'kjhj flj] xzhok ] /kM+] rFkk iwaN esa caVk gksrk gS

Time Management is Life Management
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134. Which of the following tissue is most abundant
and widely distributed in the body of complex
animals ?
(1) Epithelial tissue (2) Connective tissue
(3) Muscular tissue (4) Neural tissue

135. Anadromous fish move -

(1) From river to sea (2) From sea to river

(3) from river to river (4) None
136. Which part of ear is related to wax secreting

sebaceous gland and helps in equalising pressures
on either sides of eardrum?
(1) Pinna, Meatus and eustachian tube
(2) Pinna, Meatus and Ear drum
(3) Pinna, Meatus and oval window
(4) Eustachian tube and ear canal

137. A limbless Amphibian is -
(1) Frog (2) Toad
(3) Icthyophis (4) Hyla

138. Find out correct labellings for a,b,c,d,e following
diagram?

d

a

b

e
c

(i) Sensory signaling
(ii) Centre of respiration
(iii) Urge of eating
(iv) Intersensory association
(v) Convulated surface
(1)  a b  c  d  e

(i)  (iii) (iv) (ii) (v)
(2)  a b  c  d  e

(iii)  (ii) (v) (iv) (i)
(3)  a b  c  d  e

(iv)  (i) (v) (iii) (ii)
(4)  a b  c  d  e

(iii)  (ii) (iv) (v) (i)

134. fuEu esa ls dkSu lk Ård tfVy iz kf.k;ksa ds 'kjhj esa cgqrk;r
,oa foLr̀r :i ls QSyk gqvk ik;k tkrk gS ?

(1) midyk Ård (2) la;ksth Ård

(3) is'kh; Ård (4) rafU=dk Ård

135. ,ukMªksel eNfy;ka tkrh gS&

(1) unh ls leqnz esa (2) leqnz ls unh esa

(3) unh ls unh esa (4) dksbZ ugha
136. d.kZ dk dkSulk Hkkx ekse lkzfor djus okyh rsy xzafFk;ksa

rFkk d.kZ iVg ds nksuks vksj nkc leku djus ls lacaf/kr
gS&
(1) fiUuk, dqgj rFkk ;wLVsfd;u ufydk
(2) fiUuk, dqgj rFkk d.kZ iVg
(3) fiUuk, dqgj rFkk vaMkdkj f[kM+dh
(4) ;qLVsfd;u ufydk rFkk d.kZ ufydk

137. iknfoghu mHk;pj gksrk gS&
(1) Frog (2) Toad
(3) Icthyophis (4) Hyla

138. fuEu fp= esa a,b,c,d,e ds fy, lgh ukekadu pqfu,&

d

a

b

e
c

(i) laosnh ladsru
(ii) 'olu dsUnz
(iii) Hkw[k dsUnz
(iv) varjlaosnh laca/k
(v) ofyr lrg
(1)  a b  c  d  e

(i)  (iii) (iv) (ii) (v)
(2)  a b  c  d  e

(iii)  (ii) (v) (iv) (i)
(3)  a b  c  d  e

(iv)  (i) (v) (iii) (ii)
(4)  a b  c  d  e

(iii)  (ii) (iv) (v) (i)



H 23/29

14–01–2013PRE-MEDICAL : ENTHUSIAST COURSE

Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

139. Which of these is not vertebrate-
(1) Columba (2) Pavo
(3) Amphioxus (4) Petromyzon

140. _________and ____________are involved in
regulation of sexual behaviour,

(1) Cerebral cortex and posterior pituitary
(2) Corpora quadrigemina and pons

(3) Hypothalamus and limbic system

(4) Hypothalamus and medulla oblongta

141. Which of the following statements is correct to
urochordates-

(A) Ciliary mode of feeding

(B) Presence of Thyroid gland

(C) Notochord at tail only in larval stage

(D) Excretion by proboscis gland

(1) A & C (2) A & B

(3) C & D (4) A & D

142. Which part of human body under direct control
of nervous system-

(1) Posterior pituitary and adrenal cortex

(2) Posterior pituitary and adrenal medulla

(3) Anterior pituitary and adrenal cortex

(4) Anterior pituitary and adrenal medulla

143. Which one is incorrect pair-

(1) Psittacula-Parrot

(2) Hemidactylis-wall lizard

(3) Pavo-Pigeon

(4) Karait-Bangarus
144. Which of the following is incorrect match-

(1) Estrogen - Regulation of female

secondary sex organs

activities

(2) ANF - Decrease blood pressure

through vasodilation

(3) Cortisol - RBC production,

inflammatory actions

(4) Emergency - stimulates breakdown of

hormones proteins & lipids

145. Which one is correct pair
(1) Testudo-Chelonia
(2) Chameleon - Ophidia
(3) Lacertelia - Saurischia
(4) Hesperonis - Impennae

139. buesa ls dkSu d'ks:d ugha gS&
(1) Columba (2) Pavo
(3) Amphioxus (4) Petromyzon

140. _________rFkk ____________ySafxd O;ogkj ds
fu;eu esa lfEefyr gksrs gSA
(1) izefLr"d dkVsZDl rFkk i'p fi;w"k xzfUFk
(2) dkWiksZjk DokWMªhtsfeuk rFkk iksal
(3) gkbiksFkSysel rFkk fyfEcd ra=

(4) gkbiksFkSysel rFkk esMwyk vkCyksxsaV

141. buesa ls dkSulk dFku ;wjksdksZMsVk ds fy, lgh gS&

(A) d'kkHkksa ds }kjk Hkkstu xzg.k

(B) FkkbjkbM xzafFk dh mifLFkfr

(C) uksVksdksMZ dh mifLFkfr flQZ ykokZ voLFkk ij

(D) izksoksfll xzafFk ds  }kjk mRltZu

(1) A & C (2) A & B

(3) C & D (4) A & D

142. euq"; dk dkSulk Hkkx raf=dk ra= ds lh/ks fu;a=.k esa gksrk
gSA
(1) i'p ih;w"k xazfFk rFkk  ,Mªhuy dkWVsZDl
(2) i'p ih;w"k xazfFk  rFkk ,Mªhuy esMwyk
(3) vxz ih;w"k xazfFk rFkk ,Mªhuy dkWVsZDl
(4) vx, ih;w"k xazfFk rFkk ,Mªhuy esMwyk

143. buesa ls D;k lqesfyr ugha gS&
(1) Psittacula-Parrot
(2) Hemidactylis-wall lizard

(3) Pavo-Pigeon
(4) Karait-Bangarus

144. fuEu esa ls dkSul lgh lqesfyr ugha gS&

(1) ,LVªkstu - eknk f}rh;d ySafxd vaxks dh

fØ;kvksa dk fu;eu

(2) ANF - :f/kj okfguh izlkj.k }kjk jDr

nkc ?kVkuk

(3) dkfVZlksy - RBC rFkk izfrnkg fØ;kvksa dk

mRiknu

(4) vkikrdkyhu - izksVhu o fyfiM ds fo?kVu dks

gkeksZu izsfjr djuk
145. buesa ls lqesfyr gS&

(1) Testudo-Chelonia
(2) Chameleon - Ophidia
(3) Lacertelia - Saurischia
(4) Hesperonis - Impennae
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146. In which the following option represent correct
blood flow pathway in pulmonary circulation?

(1) Right ventricle 
Pulmonary

Artery  Lung

Pulmonary
Vein  Right atrium

(2) Left ventricle Aorta  Body Vena cava
Right Atrium

(3) Right ventrical 
Pulmonary

Vein  Lung

Pulmonary
Artery  Left Atrium

(4) Right ventrical 
Pulmonary

Artery  Lung

Pulmonary
Vein  Left Atrium

147. In paramecium Asexual reproduction occurs
through -
(1) Longitudinal binary fission
(2) Transverse binary fission
(3) Irregular binary fission
(4) All of above

148. Which one of the following option is correctly
match with its category-
Group Type of Blood

circulation oxygenated by
(1) Fish Single Skin

circulation
(2) Amphibia Double Gills

circulation
(3) Reptiles Incomplete Lungs

double
circulation

(4) Birds Incomplete Lungs
double
circulation

149. Which symmetry occurs in ctenophores.
(1) Radial (2) Biradial
(3) Bilateral (4) Asymmetrical

150. Which of the following are Uricotelic animals-
(1) Rohu and Frog (2) Camel and Frog
(3) Lizard and crow (4) Earthworm and Eagle

151. Which of the following does not happen during
stomatal opening.
(1) Accumulation of K+ ions in guard cell
(2) Increase of turgor pressure of guard cell
(3) Creation of water potential gradient between

guard cell and subsidiary cell
(4) Increased thickening of inner wall of guard cell

146. fuEu  esa ls dkSu Qq¶Qqlh; lapj.k esa lgh jDr izokg ekxZ

dks iznf'kZr djrk gS&

(1) nk a;k fuy; 
Qq¶Qqlh;

/keuh
 Q s aQMs  

Qq¶Qqlh;
f'kjk

nka;k vkfyUn

(2) ck a;k fuy; /keuh pki
 'kjhj egk f'kjk;sa

nka;k vkfyUn

(3) nk a;k fuy; 
Qq¶Qqlh;

f'kjk
 Qs aQMs  

Qq¶Qqlh;
/keuh

cka;k vkfyUn

(4) nk a;k fuy;  
Qq¶Qqlh;

/keuh
 Qs aQMs  

Qq¶Qqlh;
f'kjk

cka;k vkfyUn
147. iSjkehf'k;e esa vySafxd tuu gksrk gS&

(1) yEcor~ f}foHkktu

(2) vuqizLFk f}foHkktu

(3) vfu;fer f}foHkktu

(4) mijksDr lHkh

148. fuEu esa ls fdl fodYi dks mldh Js.kh ds lkFk lgh feyk;k

x;k gS%&

lewg ifjlapj.k dk jDr

izdkj vkWDlhtuhdj.k

(1) eNyh ,dy lapj.k Ropk }kjk

(2) mHk;pj nksgjk lapj.k fxYl }kjk

(3) ljhl̀i viw.kZ nksgjk QsaQMs }kjk

lapj.k

(4) i{kh viw.kZ nksgjk QsaQM+s }kjk

lapj.k
149. buesa ls VhuksQksjk esa dkSu lh leferh gS&

(1) vjh; (2) f}vjh;
(3) f}ik'ohZ; (4) vleferh

150. fuEu esa dkSu ;wfjdksVsfyd tUrq gS&
(1) jksgw rFkk esa<+d (2) Å¡V rFkk esa<+d
(3) fNidyh rFkk dkSvk (4) dsp¡qvk rFkk ckt

151. jU/kzks a ds  [kqyus ij fuEu esa ls dkSulk ?kfVr ugha gksrk
gSA
(1) j{kd dksf'kdkvksa esa K+ dk ,df=r gksuk
(2) j{kd dksf'kdkvksa ds LQhrh nkc dk c<+uk
(3) j{kd vkSj lgk;d dksf'kdkvksa ds e/; ty foHko

izo.krk dk fuekZ.k
(4) j{kd dksf'kdk dh Hkhrjh fHkfÙk dh eksVkbZ c<+uk
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152. Compared to blood our lymph has :-
(1) More RBCs and less WBCs
(2) No plasma
(3) Plasma without proteins
(4) More WBCs and no RBCs

153. Although a girdled (upto bast) tree may survive
for sometime, but it eventually die because :-
(1) Water will not move upward
(2) Water will not move downward
(3) Sugar and other organic solutes will not move

downward
(4) Sugars and other organic solutes will not move

upward
154. What will happen if the stretch receptors of the

urinary  bladder wall are totally removed ?
(1) There will be no micturition
(2) Urine will not collect in the bladder
(3) Micturition will continue
(4) Urine will continue to collect normally in the

bladder
155. All given statements are correct with respect to

fate of ammonia except :-
(1) Glutamine and aspargine are two most

important amides in plants.
(2) a-Ketoglutaric acid provides carbon skeleton

for the process of reductive amination process.
(3) Amides are transported through sieve tubes
(4) Glutamic acid is the main amino acid that

provides NH2 group during transamination
process.

156. In which one of the following organisms its

excretory organs are correctly stated ?

(1) Earthworm – Pharyngeal

integumentary and

septal nephridia

(2) Cockroach – Malpighian tubules

and enteric caeca

(3) Frog – Kidneys, skin and

buccal epithelium

(4) Humans – Kidneys, sebaceous

glands and tear glands.

157. Plants show Light saturation effect at ............ of
full sunlight :-
(1) 10% (2) 50%
(3) 70% (4) 100%

152. jDr dh rqyuk esa gekjs fyEQ+ (ylhdk) esa :-
(1) RBCs T;knk vkSj WBCs de gksrs gSa
(2) IykTek (izæO;) ugha gksrk
(3) izksVhu foghu IykTek gksrk gS
(4) WBCs T;knk la[;k esa gksrs gSa vkSj RBCs gksrs gh ugha

153. gkykafd ,d fxMZy o`{k dqN le; rd thfor jg ldrk
gS ijUrq /khjs&/khjs og ej tk,xk D;ksafd :-
(1) ty Åij dh rjQ ugha vk,xk
(2) ty uhps dh rjQ ugha tk,xk
(3) 'kdZjk ,oa vU; dkcZfud foy; uhps dh rjQ ugha

vk ik,axs
(4) 'kdZjk ,oa vU; dkcZfud foy; Åij dh rjQ ugha

vk ik,axs
154. ;fn ew=k'k; dh nhokj esa QSyko&xzkgh iwjh rjg fudky

fn;s x;s gksa] rks D;k gksxk ?

(1) ew=.k ugha gksxk
(2) ew=k'k; esa ew= ,df=r ugha gksxk

(3) yxkrkj ew=.k gksrk jgsxk
(4) ew=k'k; esa ew= lkekU; dh rjg gh ,df=r gksrk jgsxk

155. veksfu;k ds HkkX; ds lanHkZ esa lkjs dFku lgh gSa] dsoy
,d xyr gS :-

(1) ikS/kk a s  es a ,Lisjftu ,oa XywVsfeu nks vfr eq[;
vekbM gSA

(2) vipf;r ,ehuhdj.k izfØ;k ds fy, a-dhVksXywVsfjd
vEy dkcZfud inkFkZ miyC/k djkrk gSA

(3) vekbM pkyuh ufydkvksa }kjk LFkkukUrfjr gksrs gSA
(4) XywVsfed vEy eq[; vehuks vEy gS tks ikj ,ehuu

izfØ;k esa NH2 lewg miyC/k djkrk gSA
156. fuEufyf[kr esa ls fdl ,d tho/kkjh esa mlds mRlxhZ vaxksa

dks lgh fxuk;k gS\

(1) dsapqvk – xzluh;] v/;koj.kh

rFkk iVh; usÝhfM;k

(2) dkWdjksp – ekYih>h ufydk,sa rFkk

vka= va/kuky

(3) esa<+d – o`Dd] Ropk rFkk eq[k

,fiFkhfy;e

(4) ekuo – o`Dd] flcs'kl xzafFk;ka rFkk

vJq xzafFk;ka
157. ikni izdk'k lar`Irk izHkko iw.kZ izdk'k ds  ............ ij

n'kkZrs gS :-
(1) 10% (2) 50%
(3) 70% (4) 100%
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158. Select the correct statement regarding the specific

disorder of muscular or skeletal system:-

(1) Myasthenia gravis-Auto immune disorder

which inhibits sliding of myosin filaments

(2) Gout inflammation of joints due to extra

deposition of calcium

(3) Muscular dystrophy - age related shortening

of muscles

(4) Osteoporosis-decrease in bone mass and

higher chances of fractures with advancing age

159. Agranal chloroplast are found in :-
(1) Mesophyll of pea leaves
(2) Bundle sheath of mango leaves
(3) Mesophyll of maize leaves
(4) Bundle sheath of sugar cane leaves

160. Which one of the following is the correct

statement for respiration in humans ?

(1) Workers in grinding and stone-breaking

industries may suffer, from lung fibrosis

(2) Abut 90% of carbon dioxide (CO2) is carried

by haemoglobin as carbamino haemoglobin

(3) Cigarette smoking may lead to inflammation

of bronchi

(4) Neural signals from pneumotoxic centre in

pons region of brain can increase the duration

of inspiration

161. Substrate level phosphorylation does not occur in
which of the following reaction of aerobic
respiration :-

(1) 1-3-diPGA ® 3PGA

(2) 3PGA ® 2PGA

(3) PEP ® Pyruvate

(4) Succinyl CoA ® Succnic acid

162. Blue dye neel is obtained from:-

(1) Roots of Ashwagandha

(2) Seeds of Plantago ovata

(3) Leaves of Indigofera

(4) Seeds of Croton tiglium

158. is'kh vFkok dadky ra=ksa ls lacaf/kr ,d fof'k"V fodkj

ds laca/k esa lgh dFku pqfu, :-

(1) ek;slFkhfu;k xz Sfol & Loizfrj{kk fodkj ftlesa ek;ksflu
rarqvksa dk fljduk ugha gks ikrk

(2) xkÅV & dSfYl;e ds lkekU; ls vf/kd teko ds dkj.k
laf/k;ksa dk 'kksFk

(3) is'kh; nq"iks"k.k & c<+rh tkrh vk;q ds lkFk isf'k;ksa dk
NksVk gksrs tkuk

(4) vfLFk lqf"kjrk & c<+rh tkrh vk;q ds lkFk vfLFk
lagfr esa fxjkoV vkuk rFkk vfLFk Hkaxks a dh izcy

laHkkouk,¡
159. xzsuk jfgr DyksjksIykLV ik, tkrs gS :-

(1) eVj ds iÙkksa ds fetksfQy esa
(2) vke ds iÙkksa ds caMy 'khFk esa
(3) eDds ds iÙkksa ds fetksfQy esa
(4) xUus ds iÙkksa ds caMy 'khFk esa

160. ekuoksa esa 'olu ds laca/k esa fuEufyf[kr esa ls dkSulk ,d

dFku lR; gS ?

(1) iRFkj dks rksM+us vkSj f?klus ds m|ksxk s a esa dke

djus okys Jfedksa dks QsQM+k js'kke;rk dk jksx gks ldrk
gSA

(2) yxHkx 90% dkcZu MkbvkWDlkbM dk ogu gheksXyksfcu
}kjk dkcsZehuks&gheksXyksfcu ds :i esa gksrk gSA

(3) flxjsVksa ds /kweziku ls 'olfudkvksa esa 'kksFk iSnk gks ldrk

gSA
(4) efLr"d ds ikWUl {ks= esa fLFkr 'oklfu;eu dsaæ ls fudys

raf=dh; ladsrks ls iz'olu dh vof/k c <+ ldrh

gSA
161. ok;qoh; 'olu dh fuEu vfHk fØ;ks a  es a ls fdles a

fØ;k/kkj Lrjh; QkWLQksfydj.k ugha gksrk :-

(1) 1-3-MkbZ ih th , ® 3 ih th ,

(2) 3 ih th , ® 2 ih th ,

(3) isi ® ikbZ:osV

(4) lDlhukby dks,Utkbe , ® lDlhfud vEy

162. uhyk o.kZd uhy izkIr gksrk gS :-

(1) v'oxa/kk dh ewyksa ls

(2) IykUVsxks vksosVk  ds chtksa ls

(3) bafMxksQsjk dh i.kksZ ls

(4) ØksVksu fVfXy;e ds chtksa ls
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163. Mark the incorrect statement :-
(1) Breaking of C–C bonds of complex organic

molecules by oxidation in cells leading to the
release of a lot of energy is called cellular
respiration

(2) Initial stage of cellular respiration takes place
in cytoplasm

(3) Incomplete oxidation of pyruvate by the
stepwise removal of all the hydrogen atoms,
leaving three molecules of CO2

(4) TCA cycle stats with the condensation of
acetyl group with OAA and H2O to yield
citric acid

164. Find incorrect match :-
(1) Capsicum, Tomato – Solanaceae
(2) Allium cepa (onion) – Liliaceae
(3) Aloe vera, Garlic – Fabaceae
(4) Pea, Bean, Gram – Fabaceae

165. Internodal elongation in sugarcane stem is
promoted by :-
(1) GA3 (2) Cytokinin
(3) Auxin (4) ABA

166. Character shown by members of Fabaceae (Pea,
Bean) is:-
(1) Ovary with marginal placentation
(2) False septum
(3) Swollen placenta
(4) Presence of perianth

167. Root pressure is maximum when :-
(1) Transpiration is high and absorption is very low
(2) Transpiration is very low and absorption is high
(3) Transpiration is very high an absorption is also

high
(4) Transpiration and absorption both are low

168. In which plant, the calyx is persistent :-
(1) Sonchus, Banana (2) Taraxacum, Papaya
(3) Mussaenda, Potato (4) Tomato, Brinjal

169. The  plant  factor  which  affects  the  rate  of
transpiration is :-
(1) Leaf area (2) Temperature
(3) Humidity (4) Wind speed

170. Floral formula of Solanaceae is :-

(1) +
+ K(5) C(5) A5 G(2)

(2) +
+ K(5) C(5) Aµ G1

(3) + K5 C5 A5+5 G1%

(4) + K(3/2)C(2/3) A +22 G(2)%

163. vlR; dFku dks pqfu, :-

(1) dksf'kdkvksa esa dkWEiysDl v.kqvksa ds C–C vkca/k ds
vkDlhdj.k gksus ij i;kZIr ek=k esa ÅtkZ dk eqDr gksuk
dksf'kdh; 'olu dgykrk gSA

(2) dksf'kdh; 'olu dk izFke pj.k dksf'kdk æO; esa laiUu
gksrk gSA

(3) ik;:osV dk pj.kc¼ Øe esa v/kwjk vkDlhdj.k ds
mijkar lHkh gkbMªkstu ijek.kq i`Fkd gksrs gSA ftlesa rhu
CO2 ds v.kq Hkh eqDr gksrs gSA

(4) Vh lh , pØ dk izkjaHk ,lhVkby lewg ds vksDlsyks
,sflfVd vEy rFkk ty ds lkFk la?kuu ls gksrk gS vkSj
flfVªd vEy dk fuekZ.k gksrk gSA

164. xyr feyku dks <waf<;s :-
(1) dsfIlde, VekVj – lksysuslh
(2) ,sfy;e lhik (I;kt) – fyfy,lh
(3) ,yks osjk, yglqu – Qscslh
(4) eVj, lse, puk – Qscslh

165. xUus ds rus esa var% ioZ dk nh?kh Zdj.k izsfjr djrk
gS :-
(1) GA3 (2) lkbVksfdfuu
(3) vkWfDlu (4) , ch ,

166. Qscslh dqy ds lnL;ksa (eVj] lse) }kjk iznf'kZr y{k.k
gS :-
(1) lhekUr chtk.M+U;kl ;qDr v.Mk'k;
(2) vkHkklh iV (dwV iV)
(3) Qwyk gqvk chtk.M+klu
(4) ifjnyiqat dh mifLFkfr

167. ewy nkc vf/kdre gksrk gS tc :-
(1) ok"iksRltZu vf/kd gks rFkk vo'kks"k.k de gks
(2) ok"iksRltZu cgqr de gks rFkk vo'kks"k.k vf/kd gks
(3) ok"iksRltZu cgqr vf/kd gks rFkk vo'kk s"k.k Hkh

vf/kd gks
(4) ok"iksRltZu rFkk vo'kks"k.k nksuksa de gks

168. fdl ikni esa fpjyXu ckg~;nyiqat ik;s tkrs gS :-
(1) lksUdl, dSys esa (2) VsjkDlsde, iihrs esa
(3) eqlsUMk, vkyw esa (4) VekVj, cSaxu esa

169. og ikni dkjd tks ok"ik sRltZu dh nj dks izHkkfor
djrk gS :-
(1) iÙkh {ks= (2) rkieku
(3) vkæZrk (4) ok;q osx

170. lksysuslh dk iq"i lw= gS :-

(1) +
+ K(5) C(5) A5 G(2)

(2) +
+ K(5) C(5) Aµ G1

(3) + K5 C5 A5+5 G1%

(4) + K(3/2)C(2/3) A +22 G(2)%
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171. Site of perception of light/dark duration are :-
(1) Shoot apex (2) Root apex
(3) Leaves (4) All of these

172. Match the following (w.r.t. to edible part)
(a) Apple (i) Thalamus
(b) Tomato (ii) Pericarp and placenta
(c) Banana (iii) Mesocarp and endocarp
(d) Mango (iv) Mesocarp
(1) a(iv), b(iii), c(ii), d(i)
(2) a(iii), b(i), c(ii), d(iv)
(3) a(i), b(ii), c(iii), d(iv)
(4) a(ii), b(iii), c(iv), d(i)

173. Intermediate common to fatty acid and
carbohydrate oxidation is :-
(1) Pyruvate (2) Acetyl Co-A
(3) Fructose-1-6-Diphosphate
(4) DHAP

174. Vascular bundles (vascular tissues) are absent in:-
(1) Gymnosperms (2) Angiosperms
(3) Pteridophytes (4) None of these

175. Substrate of photorespiration is :-
(1) OAA (2) Glycolic acid
(3) 3-PGA (4) PEP

176. Tracheids and vessels are related with :-
(1) Xylem of pteridophytes
(2) Xylem of angiosperms (flowering plants)
(3) Xylem of gymnosperms
(4) All of the above

177. The lacuna (cavity) in the vascular bundles of
monocot stem is :-
(1) Schizolysigenous cavity
(2) Mucilage canal
(3) Schizogenous cavity
(4) Lysigenous cavity

178. The function of xylem is :-
(1) Conduction of water
(2) Conduction of minerals
(3) Mechanical support (Mechanical strength)
(4) All of the above

179. Abnormal secondary growth is found in :-
(1) Cycas, Pinus (2) Wheat, Pea
(3) Helianthus, Tagetus (4) Kingia, Sansiviera

180. Undifferentiated ground tissue is met within :-
(1) Cucurbita stem (2) Maize stem
(3) Pea stem (4) Sunflower stem

171. izdk'k@va/kdkj dky dk vuqHko dgka ij gksrk gS :-
(1) ruk dfydk (2) ewy dfydk
(3) ifÙk;ka (4) mijksDr lHkh

172. fuEu dk feyku dhft;s ([kk| Hkkx ds lUnHkZ esa)
(a) lsc (i) iq"iklu
(b) VekVj (ii) QyfHkfÙk vkSj chtk.M+klu
(c) dsyk (iii) e/;QyfHkfÙk vkSj vUr% QyfHkfÙk
(d) vke (iv) e/;QyfHkfÙk
(1) a(iv), b(iii), c(ii), d(i)
(2) a(iii), b(i), c(ii), d(iv)
(3) a(i), b(ii), c(iii), d(iv)
(4) a(ii), b(iii), c(iv), d(i)

173. dkcksZgkbMªsV vkSj olh; vkDlhdj.k esa ,d leku e/;orhZ
inkFkZ gS :-
(1) ikbZ:osV (2) ,lhVkby dks ,Utkbe ,
(3) ÝDVkst-1-6-MkbZQkLQsV
(4) Mh ,p , ih

174. laogu iwy (laogu Ård) vuqifLFkr gksrs gS:-
(1) ftEuksLieZ esa (2) vkòÙkchft;ksa esa
(3) VsfjMksQkbV~l esa (4) buesa ls dksbZ ugha

175. izdk'k 'olu dk fØ;k/kj gS :-
(1) OAA (2) Xykbdksfyd vEy
(3) 3-ih th , (4) isi

176. okfgfudk,¡ o okfgdk,¡ lEcfU/kr gS :-
(1) VsfjMksQkbV~l ds tk;ye ls
(2) vko`Ùkchft;ksa (iq"ih ikniksa) ds tk;ye ls
(3) ftEuksLieZ ds tk;ye ls
(4) mijksDr lHkh ls

177. ,dchti=h rus ds laogu iwyka s dh xqgk gksrh gS :-
(1) fo;qDr y;tkr xqfgdk

(2) 'ys"kh dsuky

(3) fo;qDrtkr xqfgdk

(4) y;tkr xqfgdk
178. tk;ye dk dk;Z gS :-

(1) ty dk laogu djuk
(2) [kfutksa dk laogu djuk
(3) ;kaf=d lgkjk (;kaf=d 'kfDr) iznku djuk
(4) mijksDr lHkh

179. vlkekU; f}rh;d o`fð ik;h tkrh gS :-
(1) lk;dl, ikbul esa (2) xsgw¡, eVj esa
(3) gsfy,UFkl, xsank esa (4) fdfUx;k, lsfUlohjk esa

180. vfoHksfnr Hkj.k Ård feyrk gS :-
(1) dqdqjfcVk ds rus esa (2) eDdk ds rus esa
(3) eVj ds rus esa (4) lw;Zeq[kh ds rus esa

Your moral duty
i s t h at t o p r ov e ALLEN is ALLEN
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